f=1304, X=4012.6

calexp Residual Chi . Chi
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Y=245 (dx=8.0e-02, do=2.6e-02)

f=1304, X=4012.6

Y=491 (dx=4.6e-02, do=-1.7e-02)

Y=736 (dx=3.1e-02, do=-2.6e-02)

T pfsArm
1 = (x=4012.77, 0=1.15)

1 calExp
= (x=4012.85, 0=1.17)

w— Residual*5
= Trace

T pfsArm
| ™ (x=4010.45, 0=1.16)

1 calExp
= (x=4010.49, 0=1.15)

m— Residual*5
== Trace

pfsArm
1 == (x=4008.77, 0=1.15)

calExp
= (x=4008.80, 0=1.12)
m—— Residual*5
== Trace

1
Y=1228 (dx=9.8e-02, do=-2.7e-02)

Y=1473 (dx=7.4e-02, do=-1.6-02)

pfsArm
1 = (x=4006.85, 0=1.14)
1 calExp
= (x=4006.95, 0=1.12)
m—— Residual*5
w1 Trace

T pfsArm

I = (x=4006.58, 0=1.14)
calExp

= (x=4006.65, 0=1.12)

m—— Residual*5

- Trace

T
1

1

Y=1719 (dx=3.5e-02, do=-2.6e-02)
T
1 = ﬁfs:Art%e.m, 0=1.14)

calExp

= (x=4006.70, 0=1.11)
m——Residual*5

- Trace

Y=2210 (dx=4.3e-02, do=-2.5€-02)

Y=2456 (dx=6.5e-03, do=-3.4€-02)

Y=2702 (dx=1.8e-02, do=-3.1e-02)

pfsArm
| ™ (x=4007.93, 0=1.14)

1 calExp
= (x=4007.97, 0=1.12)

m—— Residual*5
w— Trace

pfsArm
= (x=4009.09, 0=1.15)

calExp
= (x=4009.10, 0=1.11)

m— Residual*5
= Trace

I pfsArm
| ™ (x=4010.61,0=1.17)

calExp
m—(x=4010.63, 0=1.14)
m—— Residual*5

= Trace

1
Y=3193 (dx=8.1e-02, do=-1.7e-02)

Y=3684 (dx=2.9e-01, do=4.7e-02)

e Residual*5
| Trace

T T T
Y=3439 (dx=2.0e-01, do=3.6e-03)
— T pfsArm T pfsArm
1 = (x=4014.94, 0=1.15) 1 = (x=4017.75, 0=1.15)
| calExp | calExp
= (x=4015.02, 0=1.14) = (x=4017.95, 0=1.15)

m— Residual*5
= Trace

T

pfsArm
| ™ (x=4021.06, 0=1.16)

calExp
= (x=4021.35, 0=1.20)
m— Residual*5
= Trace

4000 4010 4020 4030

4010 4020 4030

4010 4020 4030

Y=982 (dx=-1.8e-02, do=-1.2e-02)

T pfsArm
I == (x=4007.58, 0=1.14)
1 calExp
= (x=4007.56, 0=1.13)
w— Residual*s
= Trace

Y=1965 (dx=3.7e-02, do=-2.0e-02)

pfsArm
= (x=4007.10, 0=1.14)
calExp
= (x=4007.14, 0=1.12)
m—Residual*5
= Trace

g

1
Y=2947 (dx=1.2e-01, do=-1.4e-02)
1 T
| I ?:ZXS;Z.SS,0=1 17)
calEx|

—(x=4012.67, 0=1.15)
m——Residual*5
_ == Trace

Y=3930 (dx=3.9e-01, do=1.0e-01)

pfsArm
1 = (x=4024.99, 0=1.15)

calExp
= (x=4025.38, 0=125)
m—Residual*5
- Trace

4010 4020 4030 4040
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f=1305, X=4006.4

Y=245 (dx=2.8e-02, do=3.9e-03) Y=491 (dx=1.6e-02, do=-1.0e-02) Y=736 (dx=1.9e-02, do=-3.2e-02) Y=982 (dx=2.7e-04, do=-6.6e-03)
I F;i/yg(\)a.7z,a=1.3s| : : T F:ié:ron:m.zs, 0=125) T Ks:elrg:n.u, 0=1.35) : : T {’f’f&?n 39, 0=1.24)

calExp

calExp 1 calExp calExp
== (x=4006.75, 0=1.36) = (x=4004.29, 0=1.24) = (x=4002.76, 0=1.32) — (e=4001.39, 0=1.24)
= Residual*s m— Residual*s == Residual*s m— Residual*s

== Trace — == Trace == Trace

= Trace

L

1
T T T T T
Y=1228 (dx 1.2e- 02 do=-7.6e- 02) Y=1473 (dx= 7.1e- 02, do=-2.6e- 02 Y=1719 (dx=2.6e-02, do=-2.4e-02) Y=1965 (dx=-1. 2e- 02, do=-1.6e- 02)
A I 1 pfsA:m I pfsArm I o 7 fsA
I (x=4000.87, 0=1.39) 1 === (x=4000.40, 0=1.25) 1 === (x=4000.48, 0=1.25) 1 - (x 4001.05, 0=1.31)
calExp calExp 1 calExp calExp
= (x=4000.88, 0=1.31) = (x=4000.47, 0=123) = (x=4000.50, 0=1.22) = (x=4001.04, 0=129)
e Residual*5 = Residual*5 =] === Residual*5 e Residual*5
- Trace = wace - Trace . - Trace
T T I I r T T T T T T
Y=2210 (dx=3.4e-02, do—-7.9e-02) Y=2456 (dx=-2. le- 02, do=-8.0e- 02) Y=2702 (dx=3.7e-02, do=-3.3e-02) Y=2947 (dx=3.5e-02, do=-1.5e-02)
pfsArm I pfsArm - pfsArm I 7 I pfsArm
= (x=4001.96, 0=1.39) 1 === (x=4003.07, 0=1.35) == (x=4004.48, 0=1.26) 1 === (x=4006.44, 0=1.26)
calExp calExp calExp calExp
= (x=4001.99, 0=131) = (x=4003.05, 0=127) = (x=4004.51, 0=123) n = (x=4006.48, 0=1.24)
e Residual*5 - = Residual*5 7| m—Residual*5 == Residual*5
- Trace - Trace - Trace - Trace

! ‘ Ll ! ! I
T T T T T T T T T T T T T T
Y=3193 (dx=1.4e-02, do=-5.6e-02) Y=3439 (dx=1.1e-01, do=3.9e-02) Y=3684 (dx=2.1e-01, do=-2.6e-02) Y=3930 (dx=3.6e-01, do=3.4e-02)

pfsArm T pfsArm T pfsArm . T pfsArm

w—(x=4008.98, 0=1.44) | ™ (x=4011.56, 0=1.26) i 1 = (x=4015.02, 0=1.39) = (x=4018.97, 0=1.41)
calExp calExp calExp calExp

w—(x=4009.00, 0=1.38) - = (x=4011.67, 0=1.30) m—(x=4015.23, 0=1.37) m—(x=4019.34, 0=1.45)

= Residual*5 === Residual*5 = Residual*5 = e Residual*5

| Trace == Trace = Trace = Trace

4000 4010 4020 4000 4010 4020 4000 4010 4020 4030 4010 4020 4030



f=1307, X=3993.8

calexp Residual Shift measure
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Y=245 (dx=5.0e-03, do=5.9e-02)

f=1307, X=3993.8

Y=491 (dx=7.5e-02, do=2.2e-03)

e Residual*s
1 = Trace

pfsArm T pfsArm
1 = (x=3993.96, 0=1.15) 1 = (x=3991.73, 0=1.16)
1 calExp 1 calExp
— (x=3993.97, 0=1.21) = (x=3991.81, 0=1.16)

e Residual*5

T
1

Y=736 (dx=6.1e-02, do=-1.8e-02)

pfsArm
= (x=3990.04, 0=1.15)

T

|

1 calExp

I = (x=3990.10, 0=1.13)

e Residual*5

== Trace

Y=1228 (dx=1.0e-01, do=-1.0e-02)

Y=1473 (dx=8.3e-02, do=-1.0e-02)

Y=1719 (dx=9.1€-02, do=-1.1e-02)

pfsArm
| ™ (x=3988.17,0=115)
1 calExp
— (x=3988.27, 0=1.14)
= Residual*5
- = Trace

T pfsArm
| ™ (x=3987.90, 0=1.15)
1 calExp
= (x=3987.98, 0=1.14)
= Residual*5
= Trace

pfsArm
| ™ (x=3988.00, 0=1.15)
1 calExp
= (x=3988.09, 0=1.14)
= Residual*5
= Trace

Y=2210 (dx=8.2e-02, do=-1.2e-02)

1
Y=2456 (dx=2.8e-02, do=-2.6e-02)

1
Y=2702 (dx=1.7e-02, do=-4.0e-02)

e Residual*5
- = Trace

pfsArm pfsArm
| = (x=3989.25,0=1.14) | ™ (x=3990.41,0=115)
1 calExp 1 calExp
= (x=3989.34, 0=1.13) = (x=3990.44, 0=1.12)

e Residual*5
= Trace

Y=3193 (dx=7.3e-02, do=-7.3e-03)

Y=3439 (dx=1.5€-01, do=-2.3e-03)

pfsArm
| = (x=3996.19, 0=1.15)

calExp
= (x=3996.27, 0=1.14)

e Residual*5

T pfsArm
1 = (x=3998.99, 0=1.15)

calExp
= (x=3999.14, 0=1.15)
= Residual*5
- Trace

pfsArm
1 = (x=3991.96, 0=1.15)

1 calExp
m—(x=3991.98, 0=1.11)
= Residual*5
- Trace

Y=3684 (dx=2.9e-01, do=4.3e-02)

pfsArm
| ™ (x=4002.26, 0=1.15)

I calExp

= (x=4002.55, 0=1.19)
e Residual*s
= Trace

3980 3990 4000 4010

3990 4000 4010

3990 4000 4010

Y=982 (dx=-4.9e-03, do=1.2e-02)

T pfsArm
1 = (x=3988.87, 0=1.16)
1 calExp

= (x=3988.87, 0=1.17)
m— Residual*5
== Trace

1
Y=1965 (dx=-2.0e-02, do=-2.4e-02)

= I pfsArm
| ™ (x=3988.44, 0=1.15)
1 calExp
= (x=3988.42, 0=1.12)
e Residual*5
= Trace

Y=2947 (dx=1.0e-01, do=-2.0e-02)

I pfsArm
1 = (x=3993.88, 0=1.15)
1 calExp

— (x=3993.98, 0=1.13)
e Residual*5
- Trace

Y=3930 (dx=3.2e-01, do=1.0e-01)

pfsArm
| ™ (x=4006.16, 0=1.15)

calExp
= (x=4006.48, 0=1.26)
m—Residual*s
- Trace

3990 4000 4010 4020
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Y=245 (dx=8.5e-02, do=2.9e-02)

f=1313, X=3956.6

Y=491 (dx=4.4e-02, do=7.5e-04)

T pfsArm
| ™ (x=3956.39, 0=1.15)
1 calExp

= (x=3956.48, 0=1.18)
s Residual*s
= Trace

T pfsArm
| ™ (x=395423, 0=1.15)
1 calExp

= (x=3954.27, 0=1.15)
m— Residual*s
== Trace

calExp
= (x=3950.89, 0=1.13)
= Residual*5

= Trace

T
1

1
Y=1228 (dx=3.5e-02, do=-1.5€-02) Y=1473 (dx=3.9e-02, do=-6.2e-03)
T
| ?;s:Ar;nso.ss, 0=1.15) 1 — ?Ii"}rg;o 62, 0=1.15)

calExp
= (x=3950.66, 0=1.14)
= Residual*5

w— Trace

Y=2210 (dx=8.3e-02, do=-1.6e-02)

1
Y=2456 (dx=7.7e-02, do=-2.4e-02)

= Trace

1
1

T pfsArm pfsArm
| ™ (x=3951.99, 0=1.14) | =™ (x=3953.15,0=1.14)
1 calExp 1 calExp

= (x=3952.07, 0=1.13) = (x=3953.22, 0=1.12)
I = Residual*5 == Residual*5

== Trace

Y=3193 (dx=6.9e-02, do=-1.9e-02)

1
Y=3439 (dx=8.3e-02, do=1.3e-02)

e Residual*5
| Trace

T
1

T pfsArm T pfsArm
1 = (x=3958.83, 0=1.14) | ™ (x=3961.54, 0=1.15)
| calExp calExp

= (x=3958.89, 0=1.13) = (x=3961.63, 0=1.16)

e Residual*5
= Trace

3950 3960 3970

3950 3960 3970

Y=736 (dx=2.8e-02, do=-1.2e-02)

Y=982 (dx=5.1e-02, do=-1.2e-02)

pfsArm
1 = (x=3952.64, 0=1.15)

calExp
= (x=3952.67, 0=1.14)
m— Residual*s
== Trace

pfsArm
= (x=3951.54, 0=1.15)

calExp
= (x=3951.59, 0=1.14)
m— Residual*s

== Trace

Y=1719 (dx=3.9e-02, do=-8.1e-03)

1
Y=1965 (dx=5.9e-02, do=-2.4e-02)

pfsArm
1 = (x=3950.73, 0=1.15)
1 calExp
T = (x=3950.77, 0=1.14)
= Residual*5
= Trace

I pfsArm
| ™ (x=3951.19,0=1.14)
1 calExp

= (x=3951.25, 0=1.12)
e Residual*5
= Trace

i

Y=2947 (dx=4.5e-02, do=-4.0e-02)

Y=2702 (dx=8.5e-02, do=-2.4e-02)
T I pfsArm
1 = (x=3954.67, 0=1.14)

calExp
m—(x=3954.76, 0=1.12)
e Residual*s

= Trace

I pfsArm
| ™ (x=3956.52, 0=1.15)

calExp
m—(x=3956.57, 0=1.11)
e Residual*5

w=  Trace

1
Y=3684 (dx=1.4e-01, do=3.6e-02)

'Y=3930 (dx=2.7e-01, do=8.6e-02)

T pfsArm

. I = (x=3964.79, 0=1.15)
| calExp

—(x=3964.94, 0=1.18)

e Residual*s
= Trace

T pfsArm
1 = (x=3968.62, 0=1.15)

calExp
= (x=3968.90, 0=1.24)
m—Residual*s
- Trace

3950 3960 3970 3980

3960 3970 3980



f=1316, X=3937.4
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Y=245 (dx=7.4e-02, do=2.7e-02)

f=1316, X=3937.4

Y=491 (dx=3.9e-02, do=-1.6e-02)

pfsArm
| ™ (x=3937.39,0=1.13)

calExp
= (x=3937.46, 0=1.16)
w— Residual*5
= Trace

T pfsArm
| ™ (x=393526,0=1.13)

calExp
= (x=3935.30, 0=1.11)
m— Residual*5
== Trace

1
Y=1228 (dx=5.0e-02, do=-9.3e-03) Y=1473 (dx=6.1e-02, do=-1.7e-02)
pfsArm I pfsArm
= (x=3931.98, 0=1.12) 1 = (x=3931.76, 0=1.12)

calExp
— (x=3932.03, 0=1.11)
w—— Residual*5

= Trace

calExp
= (x=3931.83, 0=1.10)
m— Residual*5

= Trace

It T
I I

Y=2210 (dx=8.5e-02, do=-2.2e-02)

Y=2456 (dx=8.2e-02, do=-2.7e-02)

pfsArm
| =™ x=3933.13,0=114)

calExp
m—(x=393322, 0=1.12)
w— Residual*5

= Trace

pfsArm
| =™ (x=393427,0=116)

calExp
(x=3934.35, 0=1.13)

m— Residual*5

= Trace

Y=3193 (dx=9.7e-02, do=-1.3e-02)

Y=3439 (dx=8.8e-02, do=1.7e-02)

pfsArm
= (x=3939.93, 0=1.14)

calExp
= (x=3940.03, 0=1.13)
w— Residual*5
= Trace

pfsArm
| = (x=3942.54, 0=1.24)

calExp
= (x=3942.63, 0=1.26)
m— Residual*s
- Trace

3930 3940 3950

3930 3940 3950

Y=736 (dx=2.7e-02, do=-1.8e-02)

T pfsArm
| ™ (x=3933.66, 0=1.16)

calExp
= (x=3933.69, 0=1.14)

m—— Residual*5
== Trace

Y=982 (dx=4.6e-02, do=-2.1e-02)

1
Y=1719 (dx=4.1e-02, do=-2.7e-02)

pfsArm
| ™ (x=3932.56,0=1.18)

calExp
= (x=3932.60, 0=1.16)
— Residual*s
== Trace

I pfsArm
1 = (x=3931.89, 0=1.12)
1 calExp

= (x=3931.93, 0=1.09)

m——Residual*5
= Trace

Y=2702 (dx=9.5e-02, do=-1.5e-02)

pfsArm
= (x=3932.32, 0=1.15)
calExp
= (x=3932.39, 0=1.15)
m—Residual*5
== Trace

I pfsArm
| = (x=3935.67,0=127)

calExp
= (x=3935.77, 0=1.25)
m——Residual*5

= Trace

Y=3684 (dx=1.0e-01, do=1.2e-01)

I pfsArm
| = (x=3937.57,0=124)
calEx

= (x=3937.62, 0=1.19)
e Residual*5
- Trace

T pfsArm
| ™ (x=3945.67, 0=1.32)

calExp

(x=3945.77, 0=1.44)
m— Residual*5
= Trace

Y=3930 (dx=1.6e-01, do=1.9e-01)

3930 3940 3950 3960

pfsArm
= (x=3949.52, 0=124)

calExp
= (x=3949.68, 0=1.43)
m—Residual*5
- Trace

3940 3950 3960
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| = Tace

Y=245 (dx=5.4e-02, do=5.6e-02)

f=1317, X=3931.3

Y=491 (dx=5.4e-02, do=-6.3e-02)

pfsArm
| = (x=3931.18,0=1.41)

calEx|
- (x= 3931 23, 0=1.46)
m— Residual*s
=== Trace

pfsArm

| = (x=3929.11, 0=1.36)
calExp

= (x=3929.17, 0=129)

wem Residual*5
== Trace

T pfsArm

1 — 023925.94, 0=1.31)
calExp

= (x=3925.97, 0=1.30)

e Residual*5
- Trace

I pfsArm

= (x=3925.49, 0=1.38)
calExp

= (x=3925.54, 0=1.38)

= Residual*5

= Trace

Y=736 (dx=2.6e-02, do=-2.2e-02)

T pfsArm
| = (x=3927.32,0=154)

calExp
= (x=3927.34, 0=1.52)
m— Residual*s

== Trace

Y=982 (dx=2.8e-02, do=3.3e-03)

Y=1719 (dx 5.3e- 03 do=-5.4e- 02)

pfsArm

= (x=3926.39, 0=1.37)
calExp

- x= 3926 42, 0=1.37)

wmm_ Residual*5
== Trace

T (x=A3925.s7, 0=1.29)
calExp

= (x=3925.87, 0=1.24)

== Residual*5

= Trace

)

Y=1965 (dx 5.0e-02, do=1.1e-03)

pfsArm I
= (x=3927.07, 0=124) 1

A&

calExp
= (x=3927.14, 0=1.19)
= Residual*5
w— Trace

o

pfsArm
m—(x=3928.20, 0=1.24) 1

calExp
m—(x=3928.26, 0=120)
] = Residual*5
w— Trace

Y=2702 (dx=7.6e-02, do=-1.9e-02)

pfsArm
= (x=3926.24, 0=1.26)

calExp

= (x=3926.29, 0=1.26)
= Residual*5
== Trace

)

pfsArm
= (x=3929.54, 0=1.36)

calExp
—(x=3929.62, 0=1.34)
e Residual*s

w Trace

i

calExp
= (x=3933.66, 0=1.41)
e Residual*5

Wl

Y=3193 (dx=5. 6e-02, d0—1.3e-02) Y=3439 (dx=2.8e-02, do=5.0e-02)
pfsArm T pfsArm T
= (x=3933.61, 0=1.40) 1 = (x=3936.45, 0=126) 1

calExp
= (x=3936.48, 0=1.31)
| == Residual*5
= Trace

pfsArm
== (x=3931.46, 0=1.30)

calExp

(x=3931.49, 0=1.28)
e Residual*s
= Trace

pfsArm
= (x=3939.58, 0=131) 1

calExp
= (x=3939.60, 0=1.44)
= Residual*5
= Trace

3920 3930 3940

3920 3930 3940 3950

—.4-..

Y=3930 (dx=6.1e-02, do=1.8e-01)

pfsArm T
= (x=3943.42, 0=123) 1

calExp
= (x=3943.48, 0=1.41)
= Residual*5
- Trace

3930 3940 3950

3930 3940 3950
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Y=245 (dx=4.1e-02, do=2.6e-02)

f=1318, X=3925.1

Y=491 (dx=3.1e-02, do=-5.2e-04)

pfsArm T pfsArm T
= (x=3924.98, 0=1.15) 1 = (x=3922.89, 0=1.16) 1
calExp 1 calExp 1

= (x=3925.02, 0=1.18)
_| == Residual*s
== Trace

— (x=3922.92, 0=1.16)
s Residual*5
w | Trace

Y=736 (dx=2.7e-02, do=-1.2e-02)

pfsArm T
= (x=3921.31, 0=1.15) 1
calExp 1

— (x=3921.34, 0=1.13)
m— Residual*5
== Trace

Y=982 (dx=3.7e-02, do=-7.9e-03)

pfsArm T
= (x=3920.24, 0=1.15) 1
calExp 1

= (x=3920.28, 0=1.14)
w— Residual*s
== Trace

1 1 1
Y=1228 (dx=3.5e-02, do=-5.8e-03) Y=1473 (dx=5.1e-02, do=-1.9e-02) Y=1719 (dx=4.8e-02, do=-5.1e-03)
pfsArm I pfsArm I pfsArm I
= (x=3919.60, 0=1.15) 1 = (x=3919.39, 0=1.15) 1 = (x=3919.52, 0=1.14) 1
— calExp 1 — calExp 1 _ calExp 1
(x=3919.63, 0=1.14) . (x=3919.44, 0=1.13) . (x=3919.57, 0=1.14)

m= Residual*5
= Trace

m—— Residual*5
= Trace

m—— Residual*5
= Trace

| 1

Y=2210 (dx=5.8e-02, do=-3.0e-02) Y=2456 (dx=5.9e-02, do=-2.7e-02)
pfsArm I pfsArm I
= (x=3920.83, 0=1.16) 1 = (x=3921.96, 0=1.16) 1
calExp 1 calExp 1

m—(x=3920.89, 0=1.13)
mm= Residual*5
w— Trace

- (x=3922.02, 0=1.13)
w—— Residual*5
- Trace

1

Y=1965 (dx=7.3€-02, do=-1.2e-02)
T

= F:iggo.oz,aﬂ.ls) 1

calExp
= (x=3920.09, 0=1.14)
m— Residual*s

== Trace

T
1

1
Y=2702 (dx=7.5e-02, do=-1.4e-02)
T
= F:S:3r9m23.42,0=1 14) 1
calExp

(x=3923.49, 0=1.13)
m—— Residual*5
= Trace

Y=2947 (dx=5.8e-02, do=-2.1e-02)

1 1

Y=3193 (dx=7.3e-02, do=-5.8e-03) Y=3439 (dx=8.4e-02, do=1.5e-02)
pfsArm T pfsArm T
m—(x=3927.51, 0=1.15) I —(x=3930.22, 0=1.15) I

calExp
= (x=3927.59, 0=1.14)
m— Residual*s
- Trace

calExp |
(x=3930.30, 0=1.17)

m— Residual*5

| Trace

Y=3684 (dx=1.3e-01, do=3.3e-02)

pfsArm I
= (x=3925.27, 0=1.15) 1

calExj 1
m—(x=3925.33, 0=1.12)

m— Residual*5
= Trace

pfsArm T
_| = (x=3933.39, 0=1.15) 1
calExp |

= (x=3933.52, 0=1.18)

m—— Residual*5
= Trace

3920 3930 3940

3920 3930 3940

Y=3930 (dx=2.3e-01, do=5.9e-02)

== Trace

pfsArm T
= (x=3937.14, 0=1.15) 1

calExp |
= (x=3937.37, 0=121)

m— Residual*5

3920 3930 3940

3930 3940 3950
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Y=245 (dx=1.4e-02, do=2.7e-02)

f=1324, X=3887.3

Y=491 (dx=9.6e-03, do=-3.8e-03)

pfsArm
| =™ (x=388724,0=117)

1 calExp
= (x=3887.25, 0=1.20)

w— Residual*5
= Trace

T pfsArm
| ™ (x=388522,0=117)
1 calExp
= (x=3885.23, 0=1.17)
m— Residual*s
== Trace

Y=1228 (dx=4.2e-02, do=-8.9e-03)

Y=1473 (dx=5.0e-02, do=-5.7e-03)

I pfsArm I pfsArm
1 = (x=3882.12, 0=1.17) 1 = (x=3881.94, 0=1.16)
1 calExp 1 calExp

= (x=3882.17, 0=1.16) = (x=3881.99, 0=1.16)

m—— Residual*5

m—— Residual*5
= Trace

T

1
Y=2210 (dx=6.4e-02, do=-1.9e-03) Y=2456 (dx=7.2e-02, do=-1.2e-02)
I pfsArm I pfsArm
| ™ (x=3883.36, 0=1.17) | ™ (x=3884.47,0=117)
I — ((fggsa.az, 0=1.17) 1 — ((:LE;gea 54, 0=1.16)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

Y=3193 (dx=4.6e-02, do=4.7e-03)

pfsArm pfsArm
| = (x=3889.87,0=124) = (x=3892.57, 0=1.18)
| calExp calExp

= (x=3889.92, 0=124) = (x=3893.16, 0=1.42)

e Residual*5
| Trace

m— Residual*5
| Trace

3880 3890 3900

3880 3890 3900

Y=736 (dx=2.5e-02, do=-1.4e-03)

Y=982 (dx=2.1e-02, do=1.1e-03)

m—— Residual*5
== Trace

pfsArm pfsArm
| ™ (x=3883.68 0=121) | ™ (x=3882.66, 0=120)
1 calExp 1 calExp
- = (x=3883.70, 0=1.20) = (x=3882.68, 0=1.20)

= Residual*5
== Trace

1
Y=1719 (dx=5.2e-02, do=2.2e-04)
I fsArm
1 = (x=3882.09, 0=1.17)
T I — (cffsxapsz‘la, 0=1.17)

m——Residual*5
= Trace

Y=1965 (dx=4.3e-02, do=4.0e-03)

Y=2702 (dx=5.6e-02, do=8.9e-04)

pfsArm
| = (x=3882.54,0=1.18)

1 calExp
= (x=3882.59, 0=1.18)

m—Residual*5

== Trace

I pfsArm
| ™ (x=3885.87,0=122)

- 1 calExp
m—(x=3885.92, 0=1.22)

m——Residual*5
== Trace

Y=2947 (dx=3.3e-02, do=4.9e-03)

Y=3684 (dx=1.1e-01, do=6.5e-02)

pfsArm

| = (x=3887.71,0=1.19)
1 calExp
—(x=3887.74, 0=1.20)

m——Residual*5

pfsArm
| ™ (x=3895.67, 0=1.19)
- | calExp
= (x=3895.78, 0=1.26)
m— Residual*s
- Trace

3880 3890 3900 3910

pfsArm
= (x=3899.36, 0=1.17)

calExp
= (x=3899.49, 0=1.28)
m— Residual*5
- Trace

3890 3900 3910
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Y=245 (dx=5.0e-03, do=3.4e-02)

f=1328, X=3862.2

Y=491 (dx=2.1e-02, do=1.6e-02)

T pfsArm
1 = (x=3862.18, 0=1.16)

1 calExp
= (x=3862.18, 0=1.20)

w— Residual*5

T pfsArm
1 = (x=3860.20, 0=1.16)

1 calExp
= (x=3860.22, 0=1.18)

m— Residual*5

Y=736 (dx=1.2e-02, do=4.2e-03)

T pfsArm
| ™ (x=3858.72,0=117)

1 calExp
= (x=3858.73, 0=1.17)

m—— Residual*5
== Trace

Y=982 (dx=2.1e-02, do=-6.5e-03)

T pfsArm

| ™ (x=3857.73,0=1.17)
1 calExp

-1 = (x=3857.75, 0=1.16)
— Residual*s

== Trace

m—— Residual*5

1
Y=1228 (dx=4.1e-02, do=-9.2e-03) Y=1473 (dx=4.4e-02, do=4.6e-03)
I pfsArm I pfsArm
1 = (x=3857.20, 0=1.16) | = (x=3856.98 0=1.16)
T | - (CxaLEaxspsru, 0=1.15) I — (C:LE;sPsma, 0=1.16)

m—— Residual*5
= Trace

Y=2210 (dx=5.8e-02, do=-1.0e-02)

Y=2456 (dx=5.3e-02, do=-2.4e-02)

1
Y=1719 (dx=3.0e-02, do=-5.5e-03)
T
1 = F:s:Arg;Izo, 0=1.16)
1 _ calExp
(x=3857.23, 0=1.15)

m——Residual*5
= Trace

pfsArm
| =™ x=3858.47,0=115)

calExp
= (x=3858.53, 0=1.14)

m—— Residual*5

pfsArm

1 m— (x=3859.57, 0=1.15)
1 calExp
= (x=3859.63, 0=1.13)

m— Residual*5

1
Y=2702 (dx=4.5e-02, do=-3.2e-02)
I pfsArm
| ™ (x=3860.99, 0=1.15)
| — calixp
(x=3861.03, 0=1.12)

m——Residual*5
== Trace

e Residual*5
| Trace

Y=3193 (dx=3.6e-02, do=-1.4e-02) Y=3439 (dx=5.3e-02, do=2.0e-02)
T pfsArm T pfsArm

| = (x=3864.94, 0=1.17) | ™ (x=3867.58, 0=1.15)

. I r— (cxale;gfm.m, 0=1.16) I r— (CSI:E;SW 63, 0=1.17)

m— Residual*5
= Trace

T [ ———

U

Y=3684 (dx=3.2e-02, do=5.2e-02)

pfsArm
| = (x=3870.64, 0=1.15)

calExp
= (x=3870.67, 0=121)
m—Residual*5

3850 3860 3870 3880

3860 3870 3880

3860 3870 3880

1
Y=1965 (dx=4.1e-02, do=-1.8e-02)
-1 I pfsArm
| ™ (x=3857.67,0=115)
| — (Cffzxgsrn, 0=1.14)

m——Residual*5
= Trace

1
Y=2947 (dx=3.7e-02, do=-3.1e-03)
I pfsArm
| ™ x=3862.78,0=1.15)
. I — (cf‘f;gez.gz, 0=1.15)

m——Residual*5
== Trace

) 1
1
1
T T 1 T
Y=3930 (dx=1.1e-01, do=1.3e-01)
T pfsArm
1 = (x=3874.27, 0=1.15)
| — (Cxa‘:E;;Mas, 0=128)

m— Residual*5
== Trace

3860 3870 3880 3890
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Y=245 (dx=-1.3e-02, do=4.6e-02)

f=1337, X=3806.2

Y=491 (dx=-7.4e-03, do=3.2e-02)

T pfsArm
| ™ (x=3805.85,0=121)

1 calExp
= (x=3805.83, 0=1.26)

w— Residual*5
= Trace

T pfsArm
1 = (x=3804.06, 0=1.18)

1 calExp
= (x=3804.05, 0=1.21)
m— Residual*s
== Trace

1 1
Y=1228 (dx=2.5e-02, do=1.1e-03) Y=1473 (dx=3.6e-02, do=-3.7e-03)
I fsArm I pfsArm
| = (x=380127,0=1.17) 1 = (x=3801.14, 0=1.16)
I r— (C;LEBXBPUI.BD, 0=1.17) I — (C:I=E3)(Bpﬁl‘18, 0=1.16)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1
Y=2210 (dx=4.8e-02, do=-2.0e-02) Y=2456 (dx=4.4e-02, do=-1.6e-02)
I pfsArm I pfsArm
| ™ (x=3802.60, 0=1.15) | = (x=3803.68, 0=1.16)
— calExp 1 — cakxp
(x=3802.65, 0=1.14) (x=3803.73, 0=1.14)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

1 1

Y=3193 (dx=4.5e-02, do=-3.7e-03) Y=3439 (dx=1.9e-02, do=2.2e-02)
T pfsArm pfsArm
| ™ (x=3808.90, 0=1.16) | ™ (x=3811.45,0=115)
I r— ;:EI:E;BPDB.QS, 0=1.16) I — (c:I:E;Spll 47, 0=1.17)

e Residual*5
| Trace

m— Residual*5
= Trace

Y=736 (dx=1.9e-02, do=1.2e-02)

pfsArm
1 | ™ (x=3802.64, 0=121)

1 calExp
= (x=3802.66, 0=1.22)

m—— Residual*5
== Trace

Y=982 (dx=3.0e-02, do=-9.0e-03)

Y=1719 (dx=5.2e-02, do=-1.7e-02)

T pfsArm
| ™ (x=3801.74,0=1.19)

1 calExp
= (x=3801.77, 0=1.18)

= Residual*5
== Trace

pfsArm
| ™ (x=3801.33,0=116)

calExp
= (x=3801.38, 0=1.15)
e Residual*5

== Trace

Y=1965 (dx=3.6e-02, do=4.0e-04)

Y=2702 (dx=5.5€-02, do=-2.2e-02)

pfsArm
| ™ (x=3801.80,0=1.16)

1 calExp
= (x=3801.83, 0=1.16)

m—Residual*5

== Trace

I pfsArm

1 m—(x=3805.11, 0=1.15)

1 calExp
m—(x=3805.16, 0=1.13)

m——Residual*5
== Trace

Y=3684 (dx=2.3e-02, do=2.9e-02)

1

Y=2947 (dx=2.8e-02, do=-5.9e-03)
I pfsArm
| ™ (x=3806.80, 0=1.16)
I r— (?3506.83, 0=1.15)

m——Residual*5
== Trace

pfsArm
| = (x=3814.42, 0=1.15)

| calExp

= (x=3814.44, 0=1.18)
m—Residual*5
- Trace

3800 3810 3820

3800 3810 3820

Y=3930 (dx=3.2e-02, do=7.1e-02)

pfsArm
| ™ x=3817.89, 0=1.16)

calExp
= (x=3817.92, 0=1.23)
m— Residual*5
== Trace

3800 3810 3820 3830

3810 3820 3830
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Y=245 (dx=-3.0e-02, do=1.6e-02)

f=1340, X=3787.5

Y=491 (dx=4.5e-03, do=1.7e-03)

T pfsArm
1 = (x=3787.09, 0=1.17)

1 calExp
= (x=3787.06, 0=1.18)

w— Residual*5
= Trace

T pfsArm
| ™ (x=378526,0=117)

1 calExp
= (x=3785.26, 0=1.17)

m— Residual*5
== Trace

Y=1228 (dx=4.7e-02, do=-8.5e-03)

Y=1473 (dx=5.1e-02, do=-1.2e-02)

pfsArm
| = (x=3782.55,0=117)

1 calExp
= (x=3782.60, 0=1.16)

w—— Residual*5

= Trace

pfsArm
| ™ (x=3782.43,0=1.16)

calExp
= (x=3782.48, 0=1.15)
m— Residual*5

= Trace

Y=2210 (dx=4.8e-02, do=-2.0e-02)

Y=2456 (dx=7.0e-02, do=-2.2e-02)

I pfsArm I pfsArm

| ™ (x=3783.90,0=1.15) 1 = (x=3785.02, 0=1.15)

1 calExp 1 calExp
—(x=3783.95, 0=1.13) m—(x=3785.09, 0=1.12)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

1 1
Y=3193 (dx=5.1e-02, do=-1.0e-02) Y=3439 (dx=2.4e-02, do=3.5e-03)
T pfsArm pfsArm
1 = (x=3790.20, 0=1.15) | = (x=3792.67, 0=1.15)
I r— ;:EI:E;;)QO.ZE, 0=1.13) I — (c:I:EBX7p92.70, 0=1.15)

e Residual*5
| Trace

m— Residual*5
= Trace

3780 3790 3800

3780 3790 3800

Y=736 (dx=-4.3e-03, do=-7.5e-03)

T pfsArm
| ™ (x=3783.90,0=1.17)

1 calExp
= (x=3783.89, 0=1.16)

m—— Residual*5
== Trace

Y=982 (dx=2.7e-02, do=-1.7e-02)

1
Y=1719 (dx=6.1e-02, do=-1.7e-02)

T pfsArm
1 = (x=3783.05, 0=1.17)

1 calExp
= (x=3783.08, 0=1.15)

= Residual*5
== Trace

I pfsArm

- | ™ (x=3782.63, 0=1.16)
1 calExp

= (x=3782.69, 0=1.14)

m——Residual*5
= Trace

1
Y=1965 (dx=4.5e-02, do=-6.2e-03)

I pfsArm
1 = (x=3783.15, 0=1.15)
1 calExp

= (x=3783.19, 0=1.14)

m——Residual*5
= Trace

1
Y=2702 (dx=5.4e-02, do=-2.4e-02)
I pfsArm
- I m—(x=3786.39, 0=1.15)
I r— (c:f;;as.u, 0=1.12)

m——Residual*5
== Trace

'Y=3684 (dx=3.7e-02, do=3.0e-02)

1

Y=2947 (dx=2.7e-02, do=-1.8e-02)
T
1 = ?:5:3';%8.11,0=1 15)
1 calExp

(x=3788.14, 0=1.13)
m——Residual*5
== Trace

pfsArm
| = (x=3795.61, 0=1.15)

calExp
- = (x=3795.65, 0=1.18)
m— Residual*5
= Trace

3780 3790 3800 3810

1

Y=3930 (dx=4.9e-02, do=4.1e-02)
T pfsArm
1 m—(x=3799.08, 0=1.15)
| — (Cxa‘:E;;gg.u, 0=1.19)

m— Residual*5
== Trace

3790 3800 3810
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Y=245 (dx=1.6€—02 do=7.3e-02)

f=1341, X=3781.3

Y=491 (dx=3.5e-01, do=-1.6e-01)

| ﬂ pfsArm T H
— | o = (x=3779.68, 0=2.22) 1
: e f:lEsmo 03, 0=2.06) :
' D047, os226) —, _:re:c‘g”a‘ i I
I = 2550 48, 02233 7 [ 1
e Residual*5
= Trace
, | [ j1 i
Y=1228 (dx=1.5e-01, do=-8.4e-02) Y=1473 (dx=1.3e-01, do=-1.2e-01)

pfsArm

= (x=3776.24, 0=2.28)
calExp

- (x=3776.39, 0=2.19)
= Residual*5

- Trace

i

== Trace

';'ﬁ"'fﬁl"'

T | L
1 pfsArm
1 = (x=3776.44, 0=2.09)
calExp
= (x=3776.57, 0=1.98)
I = Residuals

"_kL

Y=2210 (dx=1.5e-01, do=1.4e-02)

T
Y

=2456 (dx=-1.5e-01, do=

1.7e-04)

7 T ‘I I | | T :l ]
1 1 pfsArm
1 - lx 3776 64, 0=2.33) 1 = (x=3777.61, 0=2.35)
Exp calExp
| o= lx:3776.79, 0=2.34) T | = (x=3777.45, 0=2.35)
= Residual*5 = Residual*5
- Trace - Trace
A o - -

1LY

- - ____FFE

Y=3193 (dx=2 3e- 01 do=-1.9e- 01

(dx=1.3e-01, do=4.2e-02)

T pfsArm P T
1 m—(=3784.90, 0=2.11) 1
| calExp I
| = (x=3785.13, 0=1.92) |
e Residual*5 - pfsArm
1 - Trace | | — (=378629, 0=221)
calExp
_r 1 m—(x=3786.42, 0=2.25)
= 1 m— Residual*s
== Trace
V-HFRR-E-toE | ARt
= |
T

3770 3780 3790

3800 3770

3780 3790

3800

Y=736 (dx=4.9e-02, do=-2.9e-02)

H.f“nr'f

Il

- (x 3776 79, 0=2.15)

- (x 3775 84, 0=2.12)
= Residual*5
== Trace

rw__:

Y=1719 (dx=-1.0e-01, do=-5.2e-02)

pfsArm
= (x=3776.11, 0=2.29)

calExp

= (x=3776.01, 0=2.23)
= Residual*5

= Trace

___"_{F

Y=2702 (dx=1.7e-01, do=-1.9e-01)

KT

pfsArm
== (x=3780.66, 0=2.22)

calExp
= (x=3780.83, 0=2.03)
= Residual*s
w Trace

o

L

Y=3684

(dx=2.0e-01, do=7.2e-02)

pfsArm

(x=3789.44, 0=2.06)

calExp
= (x=3789.64, 0=2.13)
me—_ Residual*5
== Trace

i

3780

3790 3800

Y=982 (dx=1.2e-01, do=4.2e-02)

i
i

r

pfsArm
= (x=3775.44, 0=2.29)

calEx
- x= 3775 56, 0=2.33)
e Residual*5

== Trace

__4{::-

Y=1965 (dx—-3.8e-02,'dc=-6.4e-02)

i

I

pfsArm
= (x=3777.84, 0=2.15)

calExp
(x=3777.81, 0=2.09)

e Residual*5

w=  Trace

-t

Y=2947 (dx—-l le- 01 do=-3.8e- 02)

T

| I-
Ao

1 - (x 3780 60, 0=2.33)

1 = (0 40, 0=229)

e Residual*5
== Trace

HiE

12e01 do= 23e01

pfsArm

= (x=3792.24, 0=2.04)
calExp

= (x=3792.12, 0=2.26)

e Residual*5

== Trace

it
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3790
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Y=245 (d

x=1.3e-01, do=-1.3e-03)

Y=491 (dx=3.3e-01,

f=1500, X=2797.6

do=-1.9e-01)

pfsArm
= (x=2793.75, 0=2.18)

calExp
= (x=2793.88, 0=2.17)
m— Residual*s

= Trace

r

pfsArm
= (x=2794.20, 0=2.21)
calExp
= (x=2794.53, 0=2.02)
m— Residual*s
== Trace

' nﬂz'd l

Y=1228 (dx=3.3e-01, do=-1.2e-01)

Y=1473 (dx=-1.3e

-01, do=-7.4e-02)

pfsArm
(x=2793.76, 0=2.25)

calExp
— (x=2794.09, 0=2.13)
e Residual*5

w— Trace

| == Trace

pfsArm
= (x=2793.06, 0=2.26)

calExp
- (x=2792.93, 0=2.19)
= Residual*5

dis

’

Y=2210 (dx=9.4e-02, do=-6.3e-02)

Y=2456 (dx=-1.1e-01, do=-1.7e-01)

pfsArm

= (x=2795.55, 0=2.23)
calExp

—(x=2795.65, 0=2.17)

= Residual*5

| Trace

(i Bl

LT

fSArm

= (x=2797.15, 0=1.66)
calExp.

= (x=2797.04, 0=1.49)

= Residual*5
= Trace

Al

]

ZI. -

Y=3193 (dx=6.8e-02, do=-1.3e-01)

Y=3439 (dx=5.4e-02, do=-4.7e-03)

pfsArm
= (x=2800.06, 0=2.25)

calExp
= (x=2800.13, 0=2.12)
e Residual*s
= Trace

I}

|

=

T

pfsArm
= (x=2800.54, 0=2.28)

calExp
= (x=2800.59, 0=2.28)
e Residual*5
= Trace

| === Residual*5

C

2790

2800 2810

2790 2800

2810

Y=736 (dx=-1.5e-02, do=-9.9e-02)

pfsArm
= (x=2794.38, 0=2.31)

calExp
= (x=2794.36, 0=221)

w—— Residual*5
== Trace

hriss

Y=1719 (dx=1.3e-01, do=-8.8e-02)

pfsArm
= (x=2795.00, 0=2.25)

calExp
= (x=2795.12, 0=2.17)

e Residual*5
= Trace

Tr_’“_'

e s}

Y=2702 (dx=-2.4e-03, do=-1.9e-01)

pfsArm
= (x=2798.19, 0=2.25)

calExp
m—(x=2798.19, 0=2.06)
mm= Residual*5

= Trace

pfsArm

= (x=2803.16, 0=1.71)
calExp

= (x=2803.16, 0=1.73)

= Trace

2790

2800

2810

Y=982 (dx=3.6e-02, do=-1.3e-01)

pfsArm
= (x=2794.23, 0=2.29)
calExp
— (x=2794.26, 0=2.17)
— Residual*s
== Trace

Y=1965 (dx=-2.0e-01, do=-1.1e-01)

pfsArm

o = (x=2794.36, 0=2.19)
calExp

— (x=2794.16, 0=2.09)

== Residual*5

== Trace

ciitit-f=

Y=2947 (dx=-3.1e-02, do=-1.8e-01)

m—(x=2799.13, 0=1.47)
= Residual*5
—| == Trace

| U

pfsArm I
= (x=2799.17, 0=1.65) 1
calEx|

g
- IKH

Y=3930 (dx=-5.0e-01, do=3.3e-02)

pfsArm

== (x=2803.64, 0=2.11)

calExp
= = (x=2803.15, 0=2.14)
= Residual*5
== Trace
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Y=245 (dx=-2.4e-02, do=2.2e-02)

f=1699, X=1641.9

Y=491 (dx=-5.6e-02, do=1.1e-02)

pfsArm
| ™ (x=1637.50, 0=1.16)

1 calExp
= (x=1637.48, 0=1.18)

w— Residual*5

. pfsArm

| ™ (x=1638.38 0=115)
1 calExp
= (x=1638.32, 0=1.16)
m— Residual*5
== Trace

¥ g T O

1
Y=1228 (dx=-3.6e-02, do=-1.0e-02) Y=1473 (dx=-6.3e-02, do=2.4e-03)
-1 pfsArm I pfsArm
| = (x=1640.44, 0=1.15) N 1 = (x=1641.06, 0=1.14)
I r— (C;LE{(GPAWAI, 0=1.14) I — (C:I=Elx6p40‘99, 0=1.14)

m—— Residual*5

m—— Residual*5
= Trace

Y=2210 (dx=-3.2e-02, do=8.7e-03)

Y=2456 (dx=-6.1e-02, do=9.7e-03)

m—— Residual*5
- w— Trace

T I pfsArm T I pfsArm
| =™ (x=1642.57,0=1.16) 1 = (x=1643.08, 0=1.13)

1 calExp 1 calExp
= (x=1642.53, 0=1.16) = (x=1643.01, 0=1.14)

m— Residual*5
= Trace

Y=3193 (dx=-5.8e-02, do=2.9e-02)

Y=3439 (dx=-3.0e-02, do=4.7e-02)

T pfsArm
1 = (x=1644.26, 0=1.13)

| calExp

= (x=1644.20, 0=1.16)
w— Residual*5
= Trace

T pfsArm
| ™ (x=1644.53, 0=1.16)

calExp
= (x=1644.50, 0=1.20)
- m— Residual*s

1630 1640 1650 1660

1630 1640 1650 1660

Y=736 (dx=-3.8e-02, do=-1.5e-02)

pfsArm
1 1 = (x=1639.15, 0=1.14)
1 calExp

= (x=1639.11, 0=1.13)
m— Residual*s

Y=1719 (dx=-2.2e-02, do=-3.1e-02)

pfsArm
| ™ (x=1641.56, 0=1.16)

calExp
= (x=1641.53, 0=1.13)
e Residual*5

== Trace

Y=2702 (dx=-6.7e-02, do=1.8e-02)

I pfsArm

| ™ (x=1643.48,0=1.15)

1 calExp
m—(x=1643.41, 0=1.17)

m——Residual*5
== Trace

Y=3684 (dx=-5.3e-02, do=6.9e-02)

pfsArm
| = (x=1644.72, 0=1.18)
- | calExp
= (x=1644.66, 0=125)
m—Residual*s
- Trace

1630 1640 1650 1660

Y=982 (dx=-2.0e-02, do=-4.1e-02)
T

pfsArm
- | ™ (x=1639.77,0=121)

1 calExp
= (x=1639.75, 0=1.16)

= Residual*5
== Trace

Y=1965 (dx=-4.8e-02, do=-2.9e-03)

. I pfsArm
1 = (x=1642.12, 0=1.13)

1 calExp
= (x=1642.07, 0=1.13)

m——Residual*5
= Trace

1
Y=2947 (dx=-3.8e-02, do=1.1e-02)
I pfsArm
| ™ (x=1643.83,0=121)
| — (cf‘flxgaajg, 0=122)

m——Residual*5

Y=3930 (dx=-1.6e-01, do=8.7e-02)

pfsArm
| ™ (x=1644.80, 0=121)

calExp
= (x=1644.65, 0=129)
m—Residual*5

1630 1640 1650 1660
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Y=245 (dx=-5.3e-02, do=1.7e-02)

f=1735, X=1420.4

Y=491 (dx=-4.6e-02, do=3.6e-04)

pfsArm
| ™ (x=141563, 0=1.15)

1 calExp
= (x=1415.58, 0=1.17)

e Residual*s
= Trace

T pfsArm
| ™ (x=141673, 0=1.15)
1 calExp

= (x=1416.68, 0=1.15)
m— Residual*s
== Trace

Y=1228 (dx=-7.8e-02, do=-2.4e-02)

Y=1473 (dx=-6.9e-02, do=-1.8e-02)

- e Residual*5
= Trace

I pfsArm - I pfsArm
1 = (x=1419.22, 0=1.15) | = (x=1419.83,0=1.15)
1 calExp 1 calExp

— (x=1419.14, 0=1.13) = (x=1419.76, 0=1.13)

e Residual*5
= Trace

Y=2210 (dx=-6.2€-02, do=2.0e-02)

Y=2456 (dx=-5.9e-02, do=1.7e-02)

—(x=1421.34, 0=1.16)
e Residual*5
w— Trace

pfsArm pfsArm
| ™ (x=1421.40,0=1.14) | ™ (x=1421.80,0=114)
i 1 calExp 1 calExj

_ m—(x=1421.75, 0=1.16)
e Residual*5
= Trace

e Residual*5
| Trace

- ‘—— -
1
Y=3193 (dx=-4.2e-02, do=3.9e-02) Y=3439 (dx=-5.7e-02, do=4.7e-02)
T pfsArm pfsArm
| = (x=1422.70, 0=1.14) . | ™ (x=1422.81,0=1.14)
7] 1 = (CEI:Elezz.ss, 0=1.18) 1 — (CSI:E{(EZZ 75, 0=1.19)

e Residual*5
= Trace

1410 1420 1430

1410 1420 1430

Y=736 (dx=-1.9e-02, do=2.7e-03)

pfsArm
| ™ (x=1417.67,0=115)
1 calExp

= (x=1417.65, 0=1.16)
- — Residual*s
== Trace

Y=982 (dx=-4.9e-02, do=-1.4e-02)

Y=1719 (dx=-4.9e-02, do=-1.4€-02)

pfsArm T
= (x=1418.49, 0=1.15) 1
calExp 1

= (x=1418.44, 0=1.14)
s Residual*s
== Trace

pfsArm
| ™ (x=1420.42,0=115)

1 calExp

= (x=1420.37, 0=1.13)
= Residual*5
== Trace

Y=1965 (dx=-8.3e-02, do=6.0e-03)

Y=2702 (dx=-8.8e-02, do=4.0e-02)

pfsArm
| ™ (x=1420.91,0=114)

calExp

= (x=1420.83, 0=1.15)
e Residual*5

== Trace

T pfsArm
1 = (x=1422.19, 0=1.14)
i 1 calExj
= (x=1422.11, 0=1.18)
= Residual*5
- Trace

] =1

Y=2947 (dx=-7.7€-02, do=1.6e-02)

Y=3684 (dx=-5.4e-02, do=5.5e-02)

I pfsArm
| ™ (x=1422.48,0=115)
1 calExp

—(x=1422.40, 0=1.17)
e Residual*5

T pfsArm
| ™ (x=1422.80, 0=1.14)

| calExp

= (x=1422.74, 0=1.19)
= Residual*5
- - Trace

Y=3930 (dx=-1.9e-01, do=1.8e-01)

pfsArm
| ™ (x=1422.63, 0=1.15)

calExp
= (x=1422.44, 0=1.33)
m—Residual*s

== Trace
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Y=245 (dx=-1.8e-02, do=1.5e-02)

f=1744, X=1365.0

Y=491 (dx=-4.0e-02, do=1.9e-02)

T pfsArm
- 1 = (x=1360.18, 0=1.15)

1 calExp
= (x=1360.16, 0=1.17)

w— Residual*5
= Trace

pfsArm
7 | ™ (x=136133,0=115)
1 calExp
= (x=136129, 0=1.17)
m— Residual*s
== Trace

1 1
Y=1228 (dx=-6.8e-02, do=-2.4e-02) Y=1473 (dx=-5.8e-02, do=-8.0e-03)
. I pfsArm _ I pfsArm
| = (x=1363.88, 0=1.15) | ™ (x=1364.55 0=115)
I r— (C;LE{(BPGB.SL 0=1.12) I — (C:I=Elx;64‘49, 0=1.14)

m—— Residual*5
= Trace

m—— Residual*5

w— Trace

Y=2210 (dx=-4.4e-02, do=-2.0e-03)

Y=2456 (dx=-4.6e-02, do=-6.5€-03)

m—— Residual*5

I pfsArm I pfsArm
1 = (x=1366.13, 0=1.14) | ™ (x=1366.52, 0=1.14)
1 calExp 1 calExp

= (x=1366.08, 0=1.14) = (x=1366.47, 0=1.14)

m— Residual*5
= Trace

Y=3193 (dx=-6.2e-02, do=-2.0e-03)

Y=3439 (dx=-5.8e-02, do=2.5e-02)

pfsArm
| =™ (x=1367.34,0=1.15)

| calExp

(x=1367.28, 0=1.15)
e Residual*5
| Trace

T pfsArm
| ™ (x=1367.40, 0=115)
calExp
= (x=1367.35, 0=1.17)

m— Residual*5
= Trace

1360 1370 1380

1360 1370 1380

Y=736 (dx=-2.8e-02, do=3.1e-03)

pfsArm
| ™ (x=1362.31,0=115)

calExp
= (x=1362.28, 0=1.15)
m— Residual*s

Y=1719 (dx=-7.6e-02, do=1.6e-03)

I fsArm
1 = (x=1365.15, 0=1.14)
1 calExp

= (x=1365.07, 0=1.15)

m——Residual*5
= Trace

Y=2702 (dx=-4.7e-02, do=-1.5e-03)

pfsArm

| ™ (x=1366.85,0=1.14)
1 calExp
m—(x=1366.80, 0=1.14)

m——Residual*5
== Trace

Y=3684 (dx=-7.2e-02, do=5.8e-02)

T pfsArm
| ™ (x=1367.34,0=1.15)
| calExp

= (x=1367.26, 0=1.21)
H == Residual*s
- Trace

1360 1370 1380

Y=982 (dx=-3.9e-02, do=-2.2e-02)
T

pfsArm
_ 1 = (x=1363.17, 0=1.15)

1 calExp
= (x=1363.13, 0=1.13)

= Residual*5
== Trace

1
Y=1965 (dx=-5.1e-02, do=-9.1e-03)
-1 I pfsArm
| ™ x=1365.64,0=1.14)
1 — (?‘:?3"65459,0:1413)

m——Residual*5
= Trace

1
Y=2947 (dx=-6.3e-02, do=3.2e-05)
4 T
1 = ?:S=A1';n67.15,o=1 15)
1 calExp

= (x=1367.09, 0=1.15)

1
Y=3930 (dx=5.8e-02, do=1.3e-01)
7 T pfsArm
1 m—(x=1367.10, 0=1.15)
| — (Cxa‘:E;;m.ls, 0=127)

m— Residual*5
== Trace

1360 1370 1380
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Y=245 (dx=1.0e-02, do=5.8e-02)

f=1797, X=1038.6

Y=491 (dx=-1.3e-02, do=3.5e-02)

T pfsArm
1 = (x=1033.09, 0=1.18)

1 calExp
= (x=1033.10, 0=1.24)

e Residual*s
= Trace

. T pfsArm
| ™ (x=1034.61, 0=120)

1 calExp
= (x=1034.60, 0=1.24)

e Residual*5

== Trace

Y=736 (dx=-9.1e-03, do=1.5e-02)

Y=982 (dx=-2.0e-02, do=-7.8e-03)

e Residual*5

1
Y=1228 (dx=-4.5e-02, do=-1.8e-02) Y=1473 (dx=-4.3e-02, do=-2.1e-02)
i I fsArm _ I pfsArm
1 = (x=1037.97, 0=1.18) | = (x=1038.68 0=120)
I = (C:LEIXOPBTQI 0=1.16) I — (C:I=E]i(0’33864, 0=1.18)

e Residual*5
= Trace

Y=2210 (dx=-5.4e-02, do=-2.1e-03)

Y=2456 (dx=-3.9e-02, do=1.5€-02)

e Residual*5

pfsArm pfsArm
| ™ x=104031,0=117) | ™ (x=1040.61,0=1.19)
1 calExp 1 calExp
m—(x=1040.25, 0=1.17) m—(x=1040.57, 0=1.20)

e Residual*5
- = Trace

Y=3193 (dx=-1.8e-02, do=3.4e-02)

Y=3439 (dx=-5.9e-02, do=>5.1e-02)

pfsArm
| ™ (x=1040.82, 0=121)

calExp
= (x=1040.81, 0=1.25)
- = Residual*5
= Trace

pfsArm
| ™ (x=1040.61, 0=1.19)

| calExp

= (x=1040.55, 0=1.24)
= Residual*5
- Trace

pfsArm
1 === (x=1035.96, 0=1.18)
1 calExp

= (x=1035.95, 0=1.20)
e Residual*5

pfsArm
1 == (x=1037.05, 0=1.18)

1 calExp
= (x=1037.03, 0=1.17)

e Residual*5
== Trace

Y=1719 (dx=-3.7e-02, do=-1.7e-02)

Y=1965 (dx=-5.7e-02, do=7.4e-03)

pfsArm
| ™ (x=1039.35 0=118)
calExp
= (x=1039.32, 0=1.16)
= Residual*5
= Trace

pfsArm
| ™ (x=1039.83 0=121)
calExp
= (x=1039.77, 0=1.22)
e Residual*5
= Trace

Y=2702 (dx=-2.3e-02, do=1.5e-02)

Y=2947 (dx=-7.5e-02, do=1.0e-02)

pfsArm

| ™ (x=1040.80, 0=121)
1 calExp

m—(x=1040.78, 0=1.22)

e Residual*s

pfsArm

1 = (x=1040.96, 0=1.18)
1 calExp

= (x=1040.89, 0=1.19)

e Residual*5

Y=3684 (dx=-2.9e-02, do=8.1e-02)

Y=3930 (dx=-8.7e-02, do=1.1e-01)

T pfsArm

1 = (x=1040.19, 0=1.18)

| calExp
= (x=1040.16, 0=1.26)
= Residual*5
- Trace

1

1

1

1

- =1

1030 1040 1050

1030 1040 1050

T pfsArm
| ™ (x=1039.46, 0=1.18)
| calExp
- (x=1039.38,0=129)

e Residual*5

1030 1040 1050

1030 1040 1050




4000

3500

3000

2500 ¢

ix)

e
< 2000
1500

1000

500 4

- 600

- 500

400

300

200

100

Q100

1030

Residual

- 60

- 40

- 20

-60

T -80
1020 1030

X (pix)

f=1800, X=1020.2

Chi
3
E1
Eji
-1 E
=|-

__;___
==

=
1§
o

N""H'...
11} '
(11NN

Chi at each row

Chi+ - Chi-

4000

3500

3000

2500

2000

1500

1000

500



Y=245 (dx=-1.4e-02, do=4.6e-02)

f=1800, X=1020.2

Y=491 (dx=2.7e-02, do=3.3e-02)

pfsArm
| ™ (x=101457,0=118)

1 calExp
= (x=1014.56, 0=1.23)

e Residual*s
= Trace

T pfsArm
| ™ (x=1016.18,0=119)

1 calExp
= (x=101621, 0=122)

e Residual*5
== Trace

Y=1228 (dx=8.0e-03, do=-7.7e-03)

Y=1473 (dx=-5.8e-02, do=-1.6e-02)

pfsArm
| ™ (x=1019.51, 0=1.19)

1 calExp
= (x=1019.52, 0=1.18)

= Residual*5

= Trace

pfsArm
| ™ (x=1020.30,0=118)

1 calExp
= (x=1020.24, 0=1.16)

= Residual*5

- - Trace

1
T T T T T T
Y=2210 (dx=-7.3e-02, do=-9.6e-03) Y=2456 (dx=-5.1e-02, do=1.7e-02)
. I pfsArm T pfsArm
1 = (x=1021.91, 0=1.17) 1 = (x=1022.22, 0=1.17)
1 calExp 1 calExp
= (x=1021.84, 0=1.16) i = (x=1022.17, 0=1.19)
. = Residual*5 == Residual*5
- Trace - Trace
|
1 T |
1

Y=3193 (dx=-4.5e-02, do=6.8e-02)

Y=3439 (dx=-9.1e-03, do=5.3e-02)

T pfsArm
| ™ (x=1022.42,0=1.18)

calExp

(x=1022.38, 0=1.25)
e Residual*5
| Trace

T pfsArm
1 = (x=1022.17, 0=1.18)

calExp

(x=1022.16, 0=1.23)
e Residual*5
= Trace

1010 1020 1030

1010 1020 1030

Y=736 (dx=1.4e-02, do=1.8e-02)

Y=982 (dx=-1.6e-02, do=-1.9e-03)

pfsArm
| ™ (x=1017.48,0=118)
1 calExp
= (x=1017.50, 0=1.20)
m—Residual*5
== Trace

T pfsArm
| ™ x=1018.59, 0=1.18)

1 calExp
= (x=1018.57, 0=1.18)

e Residual*5
== Trace

Y=1719 (dx=-3.0e-02, do=-1.8e-02)

Y=1965 (dx=-5.5e-02, do=5.2€-03)

I fsArm
1 = (x=1020.96, 0=1.17)
1 calExp

= (x=1020.93, 0=1.15)

e Residual*5
= Trace

I fsArm
| ™ (x=1021.47,0=1.17)
calExp
= (x=1021.41, 0=1.17)
e Residual*5
= Trace

Y=2947 (dx=-4.2e-02, do=3.9e-02)

1

Y=2702 (dx=-5.4e-02, do=1.5e-02)
I pfsArm
| ™ x=1022.42,0=117)
1 [ (c:flxgzz.ar 0=1.19)

e Residual*s
== Trace

pfsArm
| ™ (x=1022.49, 0=1.19)
1 calExp

m—(x=1022.45, 0=123)
e Residual*5
== Trace

Y=3684 (dx=-1.2e-02, do=6.1e-02)

Y=3930 (dx=-1.1e-02, do=1.6e-01)

T pfsArm
| ™ (x=1021.67, 0=1.18)

| calExp

= (x=1021.66, 0=1.24)
= Residual*5
- Trace

T pfsArm
1 = (x=1020.96, 0=1.18)

calExp
= (x=1020.95, 0=1.34)
m—Residual*s

1010 1020 1030

1010 1020 1030
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Y=245 (dx=-6.7e-03, do=4.8e-02)

f=1806, X=983.0

Y=491 (dx=-5.7e-03, do=3.3e-02)

= (x=977.37, 0=124)
mm Residual*5
== Trace

pfsArm pfsArm
1 = (x=977.38, 0=1.19) 1 = (x=979.03, 0=1.20)
1 calExp 1 calExp

= (x=979.03, 0=123)
— Residual*s
== Trace

1
Y=1228 (dx=-4.3e-02, do=-1.9€-02) Y=1473 (dx=-4.2e-02, do=-1.8e-02)
I pfsArm I pfsArm
1 = (x=982.46, 0=1.19) 1 = (x=983.26, 0=1.18)
- I — (C;‘:E;BpZAZ, 0=1.17) - I — (C;‘:E;BpBZZ, 0=1.17)

Residual*5
= Trace

mm—Residual*5
= Trace

Y=2210 (dx=-4.8e-02, do=-1.8e-02)

Y=2456 (dx=-6.1e-02, do=-4.0e-03)

m—Residual*5
= Trace

pfsArm I pfsArm
| ™ (x=984.83,0=1.17) 1 = (x=985.18, 0=1.17)

- 1 calExp . 1 calExp
m—(x=984.78, 0=1.15) m—(x=985.11, 0=1.17)

m— Residual*5
w— Trace

Y=3193 (dx=-6.4e-02, do=-4.6€-03)

1
Y=3439 (dx=-2.7e-02, do=1.8e-02)

- pfsArm pfsArm
1 = (x=985.30, 0=1.17) 1 = (x=985.02, 0=1.18)
| calExp | calExp

= (x=98524, 0=1.17) = (x=984.99, 0=1.19)

mm—Residual*5
= Trace

- = Trace

m Residual*5

970 980 990 1000

970 980 990 1000

Y=736 (dx=-4.7e-02, do=9.3e-03)

Y=982 (dx=-3.5e-02, do=2.9e-04)

= (x=980.33, 0=1.20)
s Residual*5
== Trace

Y=1719 (dx=-6.3e-02, do=-2.3e-02)

pfsArm
| ™ (x=983.88, 0=1.17)

calExp
- = (x=983.81, 0=1.15)
m—— Residual*5

= Trace

Y=2702 (dx=-6.3e-02, do=-6.0e-03)

I pfsArm
7 1 = (x=985.36, 0=1.17)
1 calExp

—(x=985.30, 0=1.16)
w— Residual*5
- Trace

Y=3684 (dx=-3.8e-03, do=3.8e-02)

pfsArm
1 = (x=984.47, 0=1.17)
| calExp
= (x=984.46, 0=121)

m—— Residual*5
w— Trace

970 980 990

1000

pfsArm pfsArm
1 = (x=980.38, 0=1.19) 1 = (x=981.51, 0=1.19)
1 calExp 1 calExp

= (x=981.47, 0=1.19)
w— Residual*s
== Trace

1
Y=1965 (dx=-5.8e-02, do=-1.9e-02)
T
1 = ?Isjé)rgt‘l.tm, 0=1.17)
T I e (50 58 0m115)

m—— Residual*5
= Trace

Y=2947 (dx=-4.6e-02, do=1.5e-02)
T

pfsArm

1 m—(x=985.40, 0=1.18)
1 calExp

m—(x=985.36, 0=1.19)

m—— Residual*5
== Trace

Y=3930 (dx=-8.1e-03, do=8.3e-02)
T

pfsArm
= (x=983.66, 0=1.17)

calExp
= (x=983.65, 0=1.25)
m— Residual*5
= Trace

970 980 990



calexp
4000 - 1000
3500
L 800
3000
600
2500
X
£
< 2000
400
1500
500
0 Q200

950 960

Residual

950 960

X (pix)

f=1811, X=952.2

Chi
|—1oo = -
E S \-—-
t7s | £ B
IS5 E_ S
50 = fae—
= ===
=== 1=
s |FE S
EE|=
EES==
o == |F
= ——
EE 5
== e
=F|=
== 5 =
- —25 - B=
R E
==
L 50 = [ —
= —— =
— ==
. §—— g =
-75 = =
-100 —E =
~125 . ;
950 960

-6

Shift measure

“ev- g e gwee

T e PT @ T VLeRE s v v, vvgw

Chi

-20 0
Chi+ - Chi-

]

7

;

A

0 5
Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



f=1811, X=952.2

Y=245 (dx=-2.8e-01, do=7.5e-02) Y=491 (dx=-2.8e-01, do=1.1e-01) Y=736 (dx=-1.2e-01, do=-2.6e-03) Y=982 (dx=-3.9e-02, do=-6.1e-02)

T pfsArm T pfsArm - T pfsArm T pfsArm
1 = (x=945.69, 0=1.82) 1 = (x=947.78, 0=1.61) 1 = (x=948.62, 0=1.88) . 1 = (x=949.47, 0=1.99)
calExp calExp | 1 calExp 1 calExp
= (x=945.40, 0=1.90) - - = (x=947.50, 0=1.73) = (x=948.50, 0=1.88) — (x=949.43, 0=1.93)
m—_Residual*5 m—_Residual*5 — 1 s Residual*s I m— Residual*5
= Trace l w Trace
_1- 15 | 2FEH |
T T L T T T T T T T T T T
Y=1228 (dx=3.2e-02, do=-4.3e-02) Y=1473 (dx=7.9e-03, do=-6.3e-02) Y=1719 (dx=1.3e-02, do=-1.2e-01) Y=1965 (dx=1.3e-02, do=-8.1e-02)
I pfsArm' i I pfsArm I pfsArm I pfsArm
1 = (x=950.65, 0=1.94) = (x=951.70, 0=1.82) 1 = (x=952.80, 0=1.59) 1 = (x=952.66, 0=1.93)
1 calExp ] calExp 1 calExp 1 calExp
= (x=950.68, 0=1.90) . = (x=951.71, 0=1.76) 1 = (x=952.82, 0=1.48) = (x=952.67, 0=1.85)
I e Residual*5 e Residual*5 = Residual*5 I = Residual*5
- Trace - Trace 1 - Trace - - Trace
| 1 | 1
| |
1 1
— — — - —— — [ - - — T{ — — - —— — I—
T T T T T T T T 1 T T T T
Y=2210 (dx=-6.7e-02, do=-9.4e-02) Y=2456 (dx=8.9e-02, do=-8.3e-02) Y=2702 (dx=3.1e-02, do=-4.2e-02) Y=2947 (dx=-1.7e-02, do=-2.9e-02)
L T pfsArm T pfsArm - T pfsArm . T pfsArm
= (x=953.84, 0=1.53) 1 = (x=953.84, 0=1.70) 1 = (x=953.71, 0=1.85) 1 = (x=953.83, 0=1.82)

calExp
= (x=953.81, 0=1.79)
e Residual*5

= Trace

calEx
m—(x=953.74, 0=1.81)
= Residual*5 -1
w— Trace

calExp
= (x=953.93, 0=1.62)

= Residual*5

calExp
m—(x=953.77, 0=1.43)
e Residual*5

= Trace

o

Ik

- n
Y=3193 (dx=-9.4e-02, do=1.2e-02) Y=3439 (dx=-1.9e-01, do=-6.6e-03) Y=3684 (dx=-3.1e-01, do=7.0e-02) Y=3930 (dx=-2.2e-01, do=-9.0e-04)
T pfsArm pfsArm T pfsArm pfsArm
I m—(x=953.73, 0=1.79) —(x=953.79, 0=1.58) I m—(x=952.78, 0=1.82) mm—(x=951.74, 0=1.91)
I r— ff‘:%(s;g 64, 0=1.80) ] r— ff‘:%xs% 59, 0=1.57) I r— (cfles;spz.M, 0=1.89) r— ?:I:Egspl.sl 0=1.91)

me Residual*5 e Residual*5

= Trace

e Residual*5 -
= Trace

e Residual*5
= Trace

ﬁa

=

940 950 960 970 940 950 960 970 940 950 960 940 950 960
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Y=245 (dx=2.0e-03, do=6.2e-02)

f=1812, X=945.9

Y=491 (dx=-1.1e-02, do=2.0e-02)

= (x=940.23, 0=1.25)
m— Residual*s
== Trace

pfsArm pfsArm
1 = (x=940.23, 0=1.19) 1 = (x=941.87, 0=1.18)
1 calExp 1 calExp

= (x=941.86, 0=121)
s Residual*5
w | Trace

= (x=945.44, 0=1.17)
mmResidual*5
== Trace

1
Y=1228 (dx=-2.4e-02, do=-1.6e-02) Y=1473 (dx=-2.4e-02, do=-1.7e-02)
I pfsArm I pfsArm
1 = (x=945.46, 0=1.19) 1 = (x=946.28, 0=1.18)
1 calExp 1 calExp

= (x=946.25, 0=1.16)
mm Residual*5

- = Trace

1
Y=2210 (dx=-4.6e-02, do=-5.2e-03)

Y=2456 (dx=-4.3e-02, do=-2.6e-03)

m—Residual*5
= Trace

pfsArm I pfsArm
| = (x=947.85,0=1.17) 1 = (x=948.19, 0=1.17)
1 calExp 1 calExp
m—(x=947.80, 0=1.16) m— (x=948.15, 0=1.16)

- m— Residual*5

= Trace

Y=736 (dx=-9.4e-03, do=1.1e-02)

pfsArm
1 = (x=943.32, 0=1.19)
1 calExp

= (x=943.31, 0=1.20)
w— Residual*5
== Trace

Y=1719 (dx=-2.6e-02, do=-8.9e-03)

pfsArm
| ™ (x=946.89, 0=1.17)

1 calExp
— (x=946.87, 0=1.16)
w—— Residual*5

- - Trace

1
Y=2702 (dx=-4.9e-02, do=-1.5e-03)
J T
1 = F:igrzamasa,aﬂ.u)
1 calExp

(x=948.31, 0=1.17)
m—— Residual*5
| Trace

e Residual*5
== Trace

m Residual*5
w— Trace

940 950 960

940 950 960

1 1 1
Y=3193 (dx=-2.9e-02, do=1.9e-02) Y=3439 (dx=-2.3e-02, do=2.5€-02) Y=3684 (dx=-1.5e-02, do=5.2e-02)
N T pfsArm pfsArm T pfsArm
1 = (x=948.25, 0=1.17) I = (x=947.86,0=1.16) 1 = (x=947.33, 0=1.17)
| — (cxa‘:E;gs.zz, 0=1.18) T | - ffI:ngj)rm, 0=1.19) | - (CXEI:E$7.31, 0=122)

m—— Residual*5
. = Trace

940 950 960

Y=982 (dx=-2.6e-02, do=-2.9e-03)
T

pfsArm
1 = (x=944.48, 0=1.19)
1 calExp
= (x=944.46, 0=1.19)
w— Residual*s
= == Trace

1
Y=1965 (dx=-4.9e-02, do=-5.5e-03)

T pfsArm
1 = (x=947.46, 0=1.17)
1 calExp
= (x=947.41, 0=1.17)
m— Residual*s

w— Trace

Y=2947 (dx=-2.9e-02, do=7.3e-03)

_ I pfsArm
1 = (x=948.38, 0=1.17)

1 calExp
= (x=948.35, 0=1.18)

-1 m—— Residual*5
== Trace

Y=3930 (dx=3.4e-03, do=4.8e-02)

pfsArm
1 = (x=946.46, 0=1.17)
| calExp
— (x=946.47, 0=122)

-1 m— Residual*5
= Trace

930 940 950 960
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Y=245 (dx=-3.9e-01, do=-3.8e-01)

f=1877, X=544.5

Y=491 (dx=-9.3e-02, do=-1.8e-01)

= T pfsArm pfsArm T
1 == (x=535.29, 0=1.92) = (x=536.86, 0=1.60)
1 calExp calExp
= (x=534.90, 0=1.54) = (x=536.77, 0=1.42)
T I w—_Residual*5 s Residual*s
l == Trace = Trace

e

1 B o 1

Y=1228 (dx=-2.0e-03, do=3.8e-03)

Y=1473 (dx=6.4e- 03 do=1.2e- 02)

pfsArm
= (x=541.90, 0=1.67)
calExp
= (x=541.89, 0=1.68)
= Residual*5
—| == Trace

d

- pfsArm
= (x=542.94, 0=1.69)

calExj
_(x= 542 94, 0=1.71)
e Residual*5
= Trace

fe!

Y=2210 (dx=-1.3e-02, do=-3.4e-02)

Y=2456 dx 4.9e-02, do=6.1e- 02)

pfsArm
= (x=545.20, 0=1.93)
- calExp
= (x=545.19, 0=1.89)
= Residual*5
= Trace

pfsArm
= (x=544.84, 0=1.64)

calExp
= (x=544.89, 0=170)

— === Residual*5
w— Trace

Y=3193 (dx=3.4e-02, do=6.4e-02)

pfsArm
= (x=544.83, 0=2.01)

calEx|
_(x= 54486 0=2.07)

= Residual*5
=] == Trace

pfsArm
= (x=542.85, 0=1.55)

calEx
- (x= 542 83, 0=1.53)

e Residual*5
| == Trace

530 540 550 560

530 540 550 560

| ™ (x=538.93, 0=1.67)

| == Trace

- = (x=542.12, 0=1.75)

Y=736 (dx=-7.2e-02, do=-1.2e-01)
T

pfsArm
calExp
_(x= 538 86, 0=1.55)

e Residual*5
== Trace

1
Y=1719 (dx=-5. Se- 02, do=-5.5e- 02)

pfsA
= (x=544.14, 0=1.89)

calExp

= (x=544.09, 0=1.83)
e Residual*5

== Trace

[F

Y=2702 (dx=2.4e+00, do=8.0e-01)
pfsArm T o

= (x=545.31, 0=1.87)

calExp
(x=547.70, 0=2.67)

e Residual*s

o

Y=3684 (dx=-2.1e-02, do=-7.8e-02)

pfsArm
calExp

= (x=542.10, 0=1.67)

e Residual*5

= Trace

530 540 550 560

Y=982 (dx=-1.2e-01, do=-9.2e-02)

pfsArm
= (x=541.23, 0=1.98)

calExp
= (x=541.11, 0=1.89)

e Residual*s
== Trace

1At
1

fs.“?é

=<
Il

1965 (dx=-1.9e-01, do=-1.4e-01)

pfsArm
= (x=545.86, 0=2.30)

calEx
_(x= 545 68, 0=2.17)

e Residual*5
= Trace

Y=2947 (dx—-3 5e- 02 do=-3.9e- 02)

pfsArm I
= (x=545.34, 0=2.01) 1
calExp 1
= (x=545.30, 0=1.97)
== Residual*5 I
| = Trace ]
1
1
1
E N - _ -
T 1 T
Y=3930 (dx=-2.1le-01, d0—2.0e-02)
. T pfsArm
1 = (x=542.15, 0=2.07)
| calExp
= (x=541.94, 0=2.09)
I = Residual*5
1 - Trace
1 I.l 8
1
1
o —— - -

530 540 550
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Y=245 (dx=5.6e-02, do=3.7e-02)

f=1888, X=476.4

Y=491 (dx=2.6e-02, do=4.2e-03)

— (x=469.27, 0=1.29)
m— Residual*s
== Trace

pfsArm pfsArm
1 = (x=469.22, 0=1.25) 1 = (x=471.63, 0=1.23)
1 calExp 1 calExp

= (x=471.66, 0=1.24)
e Residual*5
== Trace

w— Trace

1
Y=1228 (dx=2.0e-02, do=-2.1e-02) Y=1473 (dx=2.3e-02, do=-1.1e-02)
I pfsArm I pfsArm
1 = (x=476.70, 0=1.23) 1 = (x=477.77, 0=122)
| = (?37;)5,72, 0=121) 1 — (C;‘:E:%.w, 0=1.21)
w— Residual*s w— Residual*s

== Trace

m——Residual*5
== Trace

1 1

Y=2210 (dx=1.4e-02, do=-1.6e-02) Y=2456 (dx=1.5e-02, do=-1.8€-02)
I pfsArm I pfsArm
1 = (x=479.61, 0=122) 1 = (x=479.75, 0=121)
1 e (?37;)9.62, 0=1.20) 1 [ (C;‘:Eﬁg 76, 0=1.19)

mmResidual*5
= Trace

e Residual*5
== Trace

1 1

Y=3193 (dx=-2.8e-03, do=-1.2e-02) Y=3439 (dx=1.0e-02, do=-8.0e-03)
T pfsArm T pfsArm
1 = (x=478.72, 0=121) 1 — (x=477.78, 0=121)
1 = (CELE:;BJZ, 0=1.20) 1 — ff‘j%]g, 0=1.20)

mm—Residual*5
= Trace

———

470 480 490

470 480 490

Y=736 (dx=3.0e-02, do=1.0e-03)

Y=982 (dx=4.6e-02, do=-1.3e-02)

T pfsArm
1 = (x=473.66, 0=123)
1 calExp

= (x=473.69, 0=1.23)
s Residual*5
w | Trace

T pfsArm
1 = (x=475.36, 0=125)
1 calExp

= (x=475.41, 0=123)
m— Residual*5

== Trace

1
Y=1965 (dx=4.2e-04, do=-7.5e-03)

1
Y=1719 (dx=1.5e-03, do=-1.9e-02)
- T
1 = fﬁi‘mm, 0=122)
1 calExp

= (x=478.63, 0=121)
w— Residual*5
= Trace

=

T pfsArm
1 = (x=479.26, 0=124)
1 calExp
= (x=479.26, 0=123)
m— Residual*5
= Trace

Y=2947 (dx=2.8e-02, do=-2.5€-02)

1

Y=2702 (dx=1.1e-02, do=-2.3e-02)
T
1 = ?:ilzr?g.ﬁ7,a=l.22)
1 calExp

— (x=479.69, 0=1.19)
m—— Residual*5
= Trace

pfsArm

1 = (x=479.37,0=123)
1 calExp

—(x=479.40, 0=1.21)

m—— Residual*5

Y=3930 (dx=3.3e-02, do=1.4e-02)

1
Y=3684 (dx=2.2e-02, do=1.4e-02)
T
1 = Fii’i’%‘sz, 0=122)
. 1 — fffﬁe.sz:, 0=124)

mm Residual*5
w— | Trace

T pfsArm
1 = (x=474.77, 0=121)
| calExp

= (x=474.80, 0=1.23)

m—— Residual*5
= Trace

460 470 480 490

460 470 480 490
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Y=245 (dx=1.1e-01, do=-5.4e-02)

f=1937, X=172.2

Y=491 (dx=9.0e-02, do=-1.9e-02)

pfsArm
= (x=163.71, 0=1.36) 1

calExp
= (x=163.81, 0=1.30)
w—— Residual*s

= Trace

I

pfsArm
= (x=166.77, 0=1.33)

calExp
= (x=166.86, 0=1.31)
= Residual*5
== Trace

-+

Y=736 (dx=7.3e-02, do=-1.8e-02)

Y=1228 (dx=1.3e-01, do=-3.8e-02)

Y=1473 (dx=7.5e-02, do=-3.0e-02)

pfsArm
= (x=169.40, 0=1.33) 1

calExp
= (x=169.47, 0=1.32)
e Residual*s
== Trace

pfsArm I
= (x=173.19, 0=1.34) 1
calExp.
= (x=173.32, 0=1.30)
e Residual*5
= Trace

pfsArm I
= (x=174.47, 0=1.31) 1

calExp
== (x=174.54, 0=128)
= Residual*5
== Trace

Y=1719 (dx=6.8e-02, do=-1.8e-02)

Y=2210 (dx=6.5e-02, do=-3.7e-02)

Y=2456 (dx=9.0e-02, do=-1.6e-02)

pfsArm
= (x=175.45, 0=1.31) 1

calExp
= (x=175.52, 0=129)
e Residual*5
== Trace

pfsArm T pfsArm T
= (x=176.46, 0=1.30) 1 = (x=176.51, 0=1.30) 1

calExp 1 calExp 1
= (x=176.53, 0=1.27) — = (x=176.60, 0=1.28)

e Residual*5
w= | Trace

= Residual*5
w= | Trace

pfsArm
1 = (x=176.26, 0=1.32)

calExp
m—(x=176.39, 0=1.29)
e Residual*5

w= | Trace

1
Y=3193 (dx=9.0e-02, do=-1.3e-02) Y=3439 (dx=9.4e-02, do=-2.3e-02)
pfsArm T pfsArm T
= (x=174.58, 0=1.32) 1 = (x=17327, 0=1.32) 1
= calExp | calExp |
(x=174.67, 0=1.31)

e Residual*5
w= | Trace

(x=173.36, 0=1.29)
= Residual*5
= Trace

Y=3684 (dx=3.3e-02, do=-1.4e-02)

| === Residual*5

160 170 180 190

160 170 180

pfsArm T
= (x=171.39, 0=1.31) 1

calExp |
= (x=171.42, 0=1.30)

== Trace

)

160 170 180

Y=982 (dx=1.1e-01, do=-2.6e-02)

- =™ (x=171.58, 0=1.29)

pfsArm
= (x=171.47, 0=1.32) 1

calExp

e Residual*5
== Trace

pfsArm
= (x=176.15, 0=1.33)
calExp
- (x=176.22, 0=1.29)
== Residual*5
= Trace

Y=2947 (dx=1.0e-01, do=-3.7e-02)

pfsArm
= (x=175.59, 0=1.30)

calExp
= (x=175.69, 0=1.26)
me Residual*5

= Trace

LY

|
Y=3930 (dx=1.3e-01, do=4.5e-02)

pfsArm T
= (x=168.87, 0=1.30) 1

calExp |
= (x=169.00, 0=1.34)

= Residual*5
= Trace

170 180
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Y=245 (dx=-3.6e-01, do=-3.7e-01)

f=1938, X=165.9

Y=491 (dx=-2.8e-01, do=-3.4e-01)

- pfsArm l
= (x=155.38, 0=1.77)

calExp
= (x=155.02, 0=1.40)
— Residual*s

w | Trace

1 u

I‘I !

pfsArm

= (x=158.11, 0=1.64)
calEx

= (x= 15784 0=1.29)

= Residual*5
= Trace

~+4

Y=1228 (dx=-8.1e-02, do=-1.2e-01)

pfsArm
= (x=163.83, 0=1.41)

calExp
= (x=163.75, 0=1.29)
= Residual*5

= == Trace

pfsArm
- (x=166.12, 0=172)

calExj
_(x= 155 99, 0=1.59)
= Residual*5
— == Trace

—!"1

Y=2210 (dx=-1.7e-01, do=-1.4e-01)

- pfsArm
= (x=168.18, 0=1.77)

calExp
—(x=168.02, 0=1.64)
= Residual*5
w— Trace

pfsArm
= (x=168.09, 0=172)

calExp
= (x=167.95, 0=1.57)
= === Residual*5
w— Trace

-Ef“-’

Y=3193 (dx=-9.1e-02, do=-3.0e-02)

Y=3439 (dx=-5. 8e- 02, do=-1.2e- 01)

pfsArm
= (x=166.87, 0=1.90)

calExp
= (x=166.78, 0=1.87)
| == Residual*5
= Trace

pfsArm
= (x=163.92, 0=1.50)

calEx
4= x= 16356 0=1.38)
= Residual*5
= Trace

Y=736 (dx=-3.9e-01, do=-3.3e-01)

pfsArm
= (x=161.30, 0=1.79)

calExp
_(x= 160 91, 0=1.45)
_| == Residual*s
== Trace

Y=1719 (dx—-2 5e-01, do=-2.2e- 01)

pfsArm
= (x=167.13, 0=1.75)
calExp
= (x=166.89, 0=1.53)
= mm== Residual*5
== Trace

1
Y=2702 (dx=-7.8e-02, do=-1.0e-01)

pfsArm
= (x=166.71, 0=1.29)

calExp
= (x=166.63, 0=1.19)
] = Residual*5

= Trace

1
Y=3684 (dx=-4.0e-01, do=-3.1e-01)

pfsArm
= (x=163.57, 0=1.89)

calExp
m—(x=163.17, 0=1.58)
e Residual*s
== Trace

150 160 170 180

Y=982 (dx=-2.7e-01, do=-2.8e-01)

pfsArm
= (x=163.12, 0=1.71)

calExp
- (x= 152 86, 0=1.43)
m— Residual*s
=~ == Trace

1
Y=1965 (dx=-1.1e-01, do=-1.3e-01)

pfsArm
= (x=166.75, 0=1.36)
calExp
— (x=166.64, 0=1.23)
= Residual*5
= Trace

1
Y=2947 (dx=-1.5e-01, do=-2.0e-01)

pfsArm
= (x=167.03, 0=1.67)

calExp
= (x=166.88, 0=1.47)
—f m==Residual*5
= Trace

Y=3930 (dx=-2.8e-01, do=-2.6e-01)

pfsArm
= (x=160.46, 0=1.83)

calExp
= (x=160.18, 0=1.57)
= Residual*s
= Trace
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Y=245 (dx=6.0e-02, do=3.2e-02)

f=1939, X=159.6

Y=491 (dx=1.1e-01, do=1.7e-02)

pfsArm pfsArm
1 = (x=151.30, 0=1.29) 1 = (x=154.37, 0=1.29)
1 calExp 1 calExp
= (x=151.36, 0=1.33) = (x=154.49, 0=1.30)

mm Residual*5
== Trace

w—— Residual*5
= Trace

Y=1228 (dx=1.2e-01, do=-2.3e-02)

Y=1473 (dx=8.6e-02, do=-1.1e-02)

T fsArm T pfsArm
1 = (x=160.65, 0=1.26) 1 = (x=161.92, 0=1.22)
1 calExp 1 calExp

= (x=160.77, 0=1.24) = (x=162.01, 0=1.21)

m——Residual*5
= Trace

mm—Residual*5
= Trace

1
Y=2210 (dx=8.1e-02, do=-1.2e-02) Y=2456 (dx=6.9e-02, do=-1.1e-02)
I pfsArm I pfsArm
1 = (x=163.93, 0=1.22) 1 = (x=163.96, 0=121)
1 — calexp 1  calexp
(x=164.01, 0=1.21) (x=164.03, 0=1.20)

m——Residual*5
== Trace

mmResidual*5

Y=736 (dx=8.0e-02, do=3.4e-03)

T pfsArm
1 - (x=156.84, 0=124)

1 calExp
- (x=156.92, 0=1.24)

w—— Residual*5
= Trace

1
Y=1719 (dx=1.2e-01, do=-4.0e-03)
- T
1 = r;iAlrng.gl, 0=122)
1 calExp

= (x=163.04, 0=122)
w— Residual*5
= Trace

Y=2702 (dx=9.6e-02, do=-9.7e-03)

pfsArm
1 = (x=163.72, 0=1.24)

- 1 calExp
= (x=163.81, 0=1.23)

mm— Residual*5

Y=982 (dx=1.0e-01, do=-2.0e-02)
T

pfsArm
1 = (x=158.92, 0=123)
1 calExp
= (x=159.02, 0=1.21)
m— Residual*s
== Trace

Y=1965 (dx=1.0e-01, do=6.7e-03)

T I pfsArm
1 = (x=163.62, 0=125)

1 calExp
= (x=163.73, 0=1.26)

m—— Residual*5
= Trace

Y=2947 (dx=5.7e-02, do=-2.8e-03)

pfsArm
1 = (x=163.16, 0=128)
_ 1 calExp

= (x=163.22, 0=1.28)
m—— Residual*5

Y=3193 (dx=4.8e-02, do=3.2e-03)

Y=3439 (dx=5.2e-02, do=2.4e-03)

T pfsArm T pfsArm
1 = (x=162.16, 0=1.28) 1 = (x=160.67, 0=1.24)
| calExp | calExp

- (x=162.21, 0=1.29) = (x=160.72, 0=1.24)

e Residual*5
== Trace

mm—Residual*5

Y=3684 (dx=-3.2e-02, do=1.2e-02)

T T pfsArm
1 = (x=158.78, 0=123)

| calExp
= (x=158.75, 0=1.24)

mm Residual*5

Y=3930 (dx=8.1e-02, do=3.1e-02)

1 T pfsArm
1 = (x=156.40, 0=127)

| calExp
= (x=156.48, 0=1.30)

m— Residual*5

150 160 170

150 160 170

150 160 170

140 150 160 170
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Y=245 (dx=-2.4e-02, do=6.6e-02)

pfsArm T B
= (x=138.60, 0=1.43) 1
calExp 1

= (x=138.57, 0=1.50)
— Residual*s

f=1941, X=147.2

Y=491 (dx=3.4e-02, do=3.9e-02)

pfsArm
= (x=141.65, 0=1.46) 1

calExp
= (x=141.69, 0=1.50)

e Residual*s

= Trace
—— -

Y=736 (dx=9.5e-02, do=4.2e-02)

pfsArm T
= (x=144.39, 0=1.39) 1

calExp
= (x=144.48, 0=1.43)

wm— Residual*s

Y=982 (dx=1.0e-01, do=1.9e-02)

_| = (x=146.46, 0=1.41) 1

== Trace
-
T

pfsArm

calExp
= (x=146.56, 0=1.43)
m— Residual*s

== Trace

|

pfsArm
= (x=148.25, 0=1.37)
calExp
= (x=148.37, 0=1.36)
= Residual*5
= Trace

pfsArm
= (x=149.49, 0=1.39)

calExp
= (x=149.56, 0=1.40)
e Residual*5

= Trace

pfsArm
= (x=150.49, 0=1.39)

calExp
= (x=150.57, 0=1.40)
= Residual*5

== Trace

'Y=1965 (dx=8.7e-02, do=7.4e-03)

pfsArm
= (x=151.50, 0=1.39) 1

calExp
= (x=151.56, 0=1.38)
= Residual*5

w— Trace

pfsArm
= (x=151.54, 0=1.39) 1

™

calExp
= (x=151.60, 0=1.39)
e Residual*5

w— Trace

pfsArm
= (x=151.24, 0=1.36) 1
calExp
= (x=151.33, 0=1.37)
= Residual*5
= Trace

)

pfsArm
= (x=151.32, 0=1.36)

calExp
= (x=151.38, 0=1.36)
e Residual*5

= Trace

| = (x=150.59, 0=1.39) 1

pfsArm
= (x=149.57, 0=1.39)

.

calExp
— (x=149.62, 0=1.41)
= Residual*5
= Trace

pfsArm
= (x=148.24, 0=1.35) 1

calExp
= (x=148.27, 0=1.37)

e Residual*5
| Trace

pfsArm

L

calExp
m—(x=150.63, 0=1.41)
e Residual*5

= Trace

7| == Residual*5

140 150 160

140 150 160

pfsArm
= (x=146.32, 0=1.35)

calExp
= (x=146.32, 0=1.35)

== Trace

130 140 150 160

pfsArm -
— (x=143.71, 0=1.41) =
calExp
= (x=143.71, 0=1.45)
= Residual*5
- Trace
-

130 140 150
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Y=245 (dx=3.1e-02, do=6.7e-02)

f=1942, X=140.9

Y=491 (dx=1.7e-02, do=4.9e-02)

pfsArm
= (x=132.38, 0=1.38)

calExp
= (x=132.41, 0=1.45)
— Residual*s

w | Trace

pfsArm
= (x=135.46, 0=1.39) 1

calExp
= (x=135.48, 0=1.44)
— Residual*s

= Trace

Y=736 (dx=6.2e-02, do=3.9e-02)

pfsArm
= (x=138.15, 0=1.37) 1

calExp
- (x=13821, 0=1.41)
wm— Residual*s
== Trace

Y=982 (dx=1.3e-01, do=-1.8e-02)

pfsArm
= (x=141.72, 0=1.46) 1
calExp
= (x=141.75, 0=1.54)
= Residual*5
= Trace

pfsArm
m—(x=143.27, 0=1.38) 1

calExj
_(x= 143 37, 0=1.39)
e Residual*5

= Trace

pfsArm
= (x=140.24, 0=1.37) 1

calExp
- (x= 140 37, 0=1.35)

e Residual*5
== Trace

| == Residual*5

Y=2210 (dx=5.5e-02, do=-8.2e-03)

pfsArm
= (x=144.27, 0=137) 1

calExp
= (x=144.34, 0=137)

w— Trace

pfsArm I
= (x=145.29, 0=1.36)

— calxp

= (x=145.34, 0=1.36)
= Residual*5
| Trace

pfsArm
= (x=145.31,0=1.37) 1

calExp
m—(x=145.37, 0=1.36)
e Residual*5
w— Trace

Y=2702 (dx=1.1e-02, do=5.6e-02)

pfsArm
= (x=144.72, 0=1.46)
calExp
— (x=144.79, 0=1.48)
= Residual*5
= Trace

Y=3193 (dx=5. 1e 02, do=2.2e-02)

Y=3439 (dx=2.4e-02, do=3.2e-02)

T pfsArm
| ™ (x=14475,0=1.49)

1 calExp
—(x=144.76, 0=1.55)
e Residual*5
= Trace

1
Y=2947 (dx=7.4e-02, do=-7.0e-04)

pfsArm T pfsArm

= (x=143.33, 0=1.38) 1 | = (x=141.67,0=1.47)
calExp | calExp

= (x=143.38, 0=1.40) = (x=141.70, 0=1.50)

= Residual*5
= Trace

e Residual*5
= Trace

Y=3684 (dx=-5.9e-02, do=7.9e-02)

T pfsArm
1 === (x=144.35, 0=1.38)
1 calExp
= (x=144.42, 0=1.38)
s Residual*s
1 == Trace

130 140 150

130 140 150

pfsArm
| ™ (x=139.70, 0=1.51)
| calExp
— (x=139.64, 0=1.59)

mem Residual*5
= Trace

130 140 150

pfsArm
1 = (x=137.44, 0=1.41)

calExp
— (x=137.39, 0=1.42)
== Residual*s
= Trace

130 140 150
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Y=245 (dx=8.3e-03, do=7.0e-02)

f=1949, X=97.5

Y=491 (dx=1.1e-01, do=3.9e-02)

pfsArm T . pfsArm T
= (x=88.56, 0=1.47) 1 = (x=92.03, 0=1.39) 1
calExp 1 calExp 1

= (x=88.57, 0=1.54)
w— Residual*s
w | Trace

— (x=92.14, 0=1.43)
e Residual*s
w | Trace

Y=1228 (dx=8.1e-02, do=-3.5€-03)

Y=1473 (dx=1.2e-01, do=9.4e-03)

pfsArm I pfsArm I
] = (x=98.46, 0=1.43) 1 = (x=100.00, 0=1.37) 1
calExp 1 - calExp 1

= (x=98.54, 0=1.42) = (x=100.12, 0=1.38)

= Residual*5
= Trace

= Residual*5
= Trace

Y=2210 (dx=9.5e-02, do=1.0e-03)

Y=2456 (dx=1.9e-01, do=-2.1e-02)

pfsArm I pfsArm I
= (x=102.02, 0=1.37) 1 — = (x=102.03, 0=1.36) 1

calExp 1 calExp 1
m—(x=102.11, 0=1.37) —(x=102.22, 0=1.34)

= Residual*5
w— Trace

e Residual*5
w— Trace

Y=3193 (dx=4.9e-02, do=8.6e-02) Y=3439 (dx=2.2e-02, do=-2.3e-03)
T T
- F;?gr;se, 0=1.45) 1 e r;?gr?,sm 0=1.37) 1
e calExp | e calExp |
(x=99.71, 0=1.54) (x=98.36, 0=1.37)

= Residual*5
w— | Trace

e Residual*5
| Trace

90 100 110

Y=736 (dx=1.2e-01, do=5.3e-02)

pfsArm T
- = (x=94.49, 0=1.44) 1
calExp 1

= (x=94.61, 0=1.49)
wm— Residual*s
== Trace

Y=982 (dx=4.8e-02, do=8.1e-02)

Y=1719 (dx=1.2e-01, do=1.0e-02)

pfsArm T
| = (x=96.59, 0=1.48) 1
calExp 1

= (x=96.63, 0=1.56)
e Residual*5
== Trace

pfsArm I
= (x=101.00, 0=1.37) 1
calExp 1

= (x=101.12, 0=1.38)

e Residual*5
= Trace

'Y=1965 (dx=5.7e-02, do=1.5e-02)

Y=2702 (dx=4.2e-02, do=-2.6e-03)

pfsArm T
= (x=101.50, 0=1.42) 1

calExp
= (x=101.56, 0=1.44)
= Residual*5

== Trace

- pfsArm I
= (x=101.53, 0=1.42) 1
calExp 1

m—(x=101.57, 0=1.41)
e Residual*5
= Trace

Y=3684 (dx=7.4e-02, do=8.1e-03)

1
Y=2947 (dx=1.1e-01, do=1.1e-03)
T
= E)xfiﬁr(ﬁ.oz, 0=1.36) 1
— calexp 1
(x=101.13, 0=1.36)

e Residual*5
= Trace

pfsArm T
= (x=96.33, 0=1.38) 1

calExp |
= (x=96.40, 0=1.39)

= === Residual*5
= Trace

Y=3930 (dx=-8.0e-02, do=1.2e-01)

pfsArm T
= (x=93.58, 0=1.45) 1

calExp |
= (x=93.50, 0=1.56)

e Residual*5
= Trace

80 90 100 110
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Y=245 (dx=9.8e-02, do=5.2e-02)

f=1952, X=78.8

Y=491 (dx=1.3e-01, do=2.3e-02)

pfsArm pfsArm
1 = (x=70.03, 0=1.30) 1 = (x=73.27, 0=128)
1 calExp 1 calExp

= (x=70.13, 0=1.35)
m— Residual*s

= (x=73.40, 0=1.30)
m— Residual*s
== Trace

Y=1228 (dx=5.2e-02, do=2.4e-02)

Y=1473 (dx=8.6e-02, do=-1.6e-02)

T pfsArm T pfsArm
1 = (x=79.86, 0=122) 1 = (x=81.32, 0=127)
1 calExp 1 calExp

= (x=79.91, 0=125) = (x=81.40, 0=126)

e Residual*5
= Trace

e Residual*5
= Trace

Y=736 (dx=8.7e-02, do=8.3e-03)

pfsArm
1 = (x=75.87, 0=122)

— 1 calExp

= (x=75.96, 0=1.23)

e Residual*5
== Trace

Y=982 (dx=1.3e-01, do=-1.2e-02)

1
Y=1719 (dx=1.2e-01, do=7.8e-03)

T pfsArm
1 = (x=78.17, 0=129)

1 calExp
= (x=78.30, 0=127)

w—— Residual*s
== Trace

I pfsArm
1 = (x=82.34, 0=127)
1 calExp

= (x=82.46, 0=128)

e Residual*5
= Trace

Y=1965 (dx=9.0e-02, do=-6.8e-03)

|

Y=2210 (dx=9.3e-02, do=-3.1e-02) Y=2456 (dx=1.1e-01, do=-1.6e-02)
T T
1 = F:S:\srgas, 0=1.26) 1 — (p:iABr;.‘37,o=1 26)
1 — ((:LEBX;AS, 0=123) 1 — (cffg.w, 0=125)

e Residual*5

e Residual*s
= Trace

Y=2702 (dx=-9.4e-03, do=1.9e-02)

I pfsArm
1 = (x=83.05, 0=1.29)
1 calExp

= (x=83.14, 0=1.28)
= Residual*5
= Trace

pfsArm

1 == (x=83.06, 0=128)
1 calExp

= (x=83.05, 0=1.30)

e Residual*5
== Trace

Y=2947 (dx=9.5e-02, do=-1.5€-02)

1
Y=3193 (dx=1.1e-01, do=-5.2e-05) Y=3439 (dx=5.7e-02, do=-2.9e-03)
T T
1 = F;S:Astz,oﬂzn 1 e (p;i/;?es,aﬂm)
1 = KCSI:E;fB, 0=1.27) 1 — (?39?70, 0=1.23)

me Residual*5
= Trace

e Residual*s
= Trace

I pfsArm
1 = (x=82.32,0=127)
1 calEx

(x=82.42, 0=1.25)
= Residual*5
w— Trace

1

Y=3684 (dx=7.2e-02, do=1.3e-02)
T
1 = F;5=A7';T‘161, 0=1.24)
| = (cf‘:E;vpes, 0=1.25)

= Residual*5
== Trace

Y=3930 (dx=-4.1e-02, do=7.0e-02)

pfsArm
1 = (x=75.04, 0=129)
| calExp

= (x=75.00, 0=1.36)

= Residual*5




